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�E>?NG5=<5 GE?>6<= >5D47>64=<O 6 7>DNG5= ED545 (<?< 6=5E5=<O 6 =55) 
<EF>G=<>>6 746<74=<O 4>EF<745FEO E?54GNM<< E?>E>5><:

1) ?D<<5=5=<5 M?5>FD>>5>DG4>64=<O, E>>F65FEF6GNM57> >?4EEG
?>64D>>?4E=>= < 67DO6>>?4E=>= 7>=O, >4F57>D<< < 7DG??5
67DO6>>?4E=>= E<5E<;

2) ?D<<5=5=<5 6 >>=EFDG>F<< 5OEFD>45=EF6GNM<E ED54EF6 74M<F=>7>
>F>?NG5=<O M?5>FD>GEF4=>6>> <?< 4DG7<E GEFD>=EF6, <E>?NG4NM<E
?>O6?5=<5 <EF>G=<>>6 746<74=<O;

3) ?D<<5=5=<5 >5>DG4>64=<O < D56<<>6 ?D>6545=<O F5E=>?>7<G5E>>7>
?D>F5EE4, <E>?NG4NM<E >5D47>64=<5 EF4F<G5E>>7> M?5>FD<G5EF64;

4) GEFD>=EF6> <>?=<574M<FO 744=<=, E>>DG65=<= < >5>DG4>64=<O;
5) ?>445D64=<5 557>?4E=>= F5<?5D4FGDO =47D564 65M5EF6, <4F5D<4?>6 <

?>65DE=>EF5=, >>F>DO5 >>=F4>F<DGNF E 7>DNG5= ED54>=;
6) ?D<<5=5=<5 <E>D>557>?4E=>7> <=EFDG<5=F4 ?D< D45>F5 E 7>DNG<<<

?O?O<<;
7) ?<>6<44F<O GE?>6<= 4?O F5??>6>7>, E<<<G5E>>7> <

<<>D>5<>?>7<G5E>>7> E4<>6>77>D4=<O >5D4M4NM<EEO 65M5EF6,

<4F5D<4?>6;
8) ?D<<5=5=<5 GEFD>=EF6, <E>?NG4NM<E 6>7<>6=>EFL D4E?D>EFD4=5=<O

??4<5=< <7 >4=>7> >5N5<4 6 E<56=O=.
&5?LN E>744=<O E<EF5< ?D>F<6>?>64D=>= 74M<FO O6?O5FEO 74M<F4 ?N45= < 

<<GM5EF64 >F 6>745=EF6<O >?4E=OE D4>F>D>6 ?>64D4 < >7D4=<G5=<5 57>
?>E?54EF6<=.

�4M<F4 ?N45= < <<GM5EF64 >F 6>745=EF6<O >?4E=OE D4>F>D>6 ?>64D4 < 
>7D4=<G5=<5 57> ?>E?54EF6<= >55E?5G<64NFEO E=<65=<5< 4<=4<<>< =4D4EF4=<O 
>?4E=OE D4>F>D>6 ?>64D4, M64>G4F<5= ?N45= < <<GM5EF64 6 557>?4E=GN 7>=G < 
FGL5=<5< ?>64D4.

%<EF5<O ?D>F<6>?>64D=>= 74M<FO 4>?6=O >5?444FL =4456=>EFLN < 
GEF>=G<6>EFLN > 6>745=EF6<N >?4E=OE D4>F>D>6 ?>64D4 6 F5G5=<5 6D5<5=<, 
=5>5E>4<<>7> 4?O 4>EF<65=<O F5?5= >55E?5G5=<O ?>64D=>= 557>?4E=>EF<.
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�4M<F4 ?N45= < <<GM5EF64 >F 6>745=EF6<O >?4E=OE D4>F>D>6 ?>64D4 <  
>7D4=<G5=<5 ?>E?54EF6<= <E 6>745=EF6<O >55E?5G<645FEO E?54GNM<<< E?>E>54<<:

1) ?D<<5=5=<5 >5N5<=>-??4=<D>6>G=OE D5L5=<= < ED54EF6,
>55E?5G<64NM<E >7D4=<G5=<5 D4E?D>EFD4=5=<O ?>64D4 74 ?D545?O
>G474;

2) GEFD>=EF6> M64>G4F<>==OE ?GF5=, G4>6?5F6>DONM<E FD55>64=<O<
557>?4E=>= M64>G4F<< ?N45= ?D< ?>64D5;

3) GEFD>=EF6> E<EF5< >5=4DG65=<O ?>64D4 (GEF4=>6>> < E<EF5<
?>64D=>= E<7=4?<74F<<), >?>65M5=<O < G?D46?5=<O M64>G4F<5=
?N45= ?D< ?>64D5;

4) ?D<<5=5=<5 E<EF5< >>??5>F<6=>= 74M<FO (6 F>< G<E?5
?D>F<6>4O<=>=) < ED54EF6 <=4<6<4G4?L=>= 74M<FO ?N45= >F
6>745=EF6<O >?4E=OE D4>F>D>6 ?>64D4;

5) ?D<<5=5=<5 >E=>6=OE EFD><F5?L=OE >>=EFDG>F<= E ?D545?4<<
>7=5EF>=>>EF< < >?4EE4<< ?>64D=>= >?4E=>EF<, E>>F65FEF6GNM<<<
FD55G5<O< EF5?5=< >7=5EF>=>>EF< < >?4EEG >>=EFDG>F<6=>=
?>64D=>= >?4E=>EF< 744=<= < E>>DG65=<=, 4 F4>65 E >7D4=<G5=<5<
?>64D=>= >?4E=>EF< ?>65DE=>EF=OE E?>56 (>F45?>>, >5?<F>6>> <
ED54EF6 >7=574M<FO) EFD><F5?L=OE >>=EFDG>F<= =4 ?GFOE M64>G4F<<;

6) ?D<<5=5=<5 >7=574M<F=OE E>EF46>6 < EFD><F5?L=OE <4F5D<4?>6 4?O
?>6OL5=<O ?D545?>6 >7=5EF>=>>EF< EFD><F5?L=OE >>=EFDG>F<=;

7) GEFD>=EF6> =4 F5E=>?>7<G5E>>< >5>DG4>64=<< E<EF5<
?D>F<6>67DO6=>= 74M<FO;

8) ?D<<5=5=<5 ?5D6<G=OE ED54EF6 ?>64D>FGL5=<O;
9) >D74=<74F<O 45OF5?L=>EF< ?>4D4745?5=<= ?>64D=>= >ED4=O.

�D>5>F<DG5<4O E<EF5<4 ?D>F<6>?>64D=>= 74M<FO >5N5>F4 >55E?5G<645F 
6O?>?=5=<5 E?54GNM<E GE?>6<=:

- 557>?4E=>EFL D45>F=<>>6, ?>6OL5=<5 MDD5>F<6=>EF< 45=EF6<=
?>64D=OE ?>4D4745?5=<= ?> ?D>6545=<N E?4E4F5?L=OE >?5D4F<= <
FGL5=<N ?>64D4 6 744=<OE, >7D4=<G5=<5 <4F5D<4?L=OE ?>F5DL >F
?>64D4;

- ?D54>F6D4M5=<5 D4E?D>EFD4=5=<O >?4E=OE D4>F>D>6 ?>64D4 <7
?><5M5=<= E >G47>< ?>64D4 6 E<56=O5 ?><5M5=<O, 4 F4>65 6 ?>MF46=O5
>>D<4>DO < E>??O;

- >55E?5G5=<5 4>EFG?4 ?>64D=OE ?>4D4745?5=<= 6> 6E5 ?><5M5=<O <
E>744=<5 GE?>6<= 4?O GE?5L=>7> FGL5=<O ?>64D4.
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3. �5>E=>64=<5 ?D>F<6>?>64D=OE D4EEF>O=<= <564G 744=<O<<,
>55E?5G<64NM<E ?>64D=GN 557>?4E=>EFL >5N5>F4 >4?<F4?L=>7> EFD><F5?LEF64

�?>M44>4 ?D>5>F<DG5<>7> EFD><F5?LEF64, ?>4 �5D=>6>= F5D<<=4? «%F5?L», 
D4E?>?>65=4 =4 E565D>-74?445 7. �7>6, $>EF>6E>4O >5?4EFL, =4 F5DD<F>D<<
?D54?D<OF<O «�7>6DO54».

�?>M44>4 EFD><F5?LEF64 ?>4N574=O<< 4>D>74<< >55E?5G5=4.
$5>>=EFDG<DG5<4O ?>7. 12 «%>?44 =4?>?L=>7> ED4=5=<O 75D=4» O6?O5FEO 

>F45?L=> EF>OM<< 744=<5< < E>7?4E=> ?.5.2 %� 108.13330.2012 (III EF5?5=L 
>7=5EF>=>>EF<, >4F57>D<< «�», >?4EE >>=EFDG>F<6=>= ?>64D=>= >?4E=>EF< %0), 
??>M44L E4<>EF>OF5?L=>7> ?>64D=>7> >FE5>4 E>EF46?O5F 3472,4<2, GF> =5 
?D56OL45F 4>?GEF<<GN ?> %� 2.13130.2020. �4==4O ?>7<F<O D4E?>?>65=4 =4 
D4EEF>O=<< =5 <5=55 9 < >F 4DG7<E ?>7<F<=, GF> E>>F65FEF6G5F FD55>64=<O< ?. 6.1.2

%� 4.13130.2013, ??>M44L ?>64D=>7> >FE5>4 =5 ?D56OL45F 4>?GEF<<GN ?> %� 
2.13130.2020. 

�D>5>F<DG5<O5 ?D>574O E>>F65FEF6GNF FD55>64=<O< %� 4.13130.2013*

(�7<. 3).

$4EEF>O=<5 >F >D4O ?D>5765= G4EF<, >55E?5G<64NM5= ?D>574 ?>64D=OE 
<4L<= 4> EF5= 744=<= < E>>DG65=<= 6O45D64=> E>7?4E=> %� 4.13130.2013*

(�7<. 3). D4745? 8 ?G=>F 8.8.

4. �?<E4=<5 < >5>E=>64=<5 ?D>5>F=OE D5L5=<= ?> =4DG6=><G
?D>F<6>?>64D=><G 6>4>E=4565=<N, ?> >?D545?5=<N ?D>574>6 < ?>4N574>6 

4?O ?>64D=>= F5E=<><

4.1. �>4>E=4565=<5

�>64D>FGL5=<5 D5>>=EFDG<DG5<>7> >5N5>F4 6O?>?=O5FEO >F D4=55 
74?D>5>F<D>64==>7> ?D>F<6>?>64D=>7> >>?LF56>7> 6>4>?D>6>44 6 E>EF465 46GE 
?>475<=OE ?D>F<6>?>64D=OE D575D6G4D>6 < ?D>F<6>?>64D=>= =4E>E=>= EF4=F<< 
(D47D45>F4=> ?> ?D>5>FG 18-09-184-��%2).

4.2. �>4N574=O5 ?GF<.

�D>5>F>< >D74=<7>64=4 E5FL ?>4N574>6 < ?D>574>6 6 E>>F65FEF6<< E  
%� 18.13330.2019 �>FG4?<7<D>64==4O D544>F<O %�<� II-89-80* «�5=5D4?L=O5 
??4=O ?D><OL?5==OE ?D54?D<OF<=», %� 4.13130.2013 «%<EF5<O ?D>F<6>?>64D=>= 
74M<FO, >7D4=<G5=<O D4E?D>EFD4=5=<O ?>64D4 =4 >5N5>F4E 74M<FO. &D55>64=<O > 
>5N5<=>-??4=<D>6>G=O< < >>=EFDG>F<6=O< D5L5=<O<», 4 F4>65 E GG5F>< 
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$545D4?L=>7> 74>>=4 >F 22 <N?O 2008 7. 7123-$� «&5E=<G5E><= D57?4<5=F > 
FD55>64=<OE ?>64D=>= 557>?4E=>EF<».

�5><5FD<G5E><5 ?4D4<5FDO M?5<5=F>6 46F><>5<?L=OE ?D>574>6 < ??>M44>> 
74?D>5>F<D>64=O E GG5F>< <E?>?L7G5<OE FD4=E?>DF=OE ED54EF6. 

�>4N574O ?>64D=>= F5E=<>< > 744=<O< < E>>DG65=<O< 74?D>5>F<D>64=O 6 
E>>F65FEF6<< E FD55>64=<O<< %� 4.13130.2013 3 L<D<=4 =5 <5=55 4,2<, D4EEF>O=<5 
4> 744=<= < E>>DG65=<= 3 5-8< (4?O 744=<= < E>>DG65=<= 6OE>F>= 4> 28<) < 8-10< 
(4?O 744=<= < E>>DG65=<= 6OE>F>= 5>?55 28<). �D>FO65==>EFL FG?<>>6OE ?D>574>6 
4?O ?>64D=>= F5E=<>< =5 ?D56OL45F 150<, 74>4=G<64NFEO >=< ??>M44>4<< 4?O 
D476>D>F4 ?>64D=>= F5E=<>< D47<5D>< =5 <5=55 G5< 15x15<, GF> G4>6?5F6>DO5F 
FD55>64=<O< %� 4.13130.2013.

�55E?5G5= ?>4N574 ?>64D=OE 46F><>5<?5= >> 6E5< M64>G4F<>==O< 6OE>44<, 
> ?>64D=O< 7<4D4=F4<, 4 F4>65 >55E?5G5= 4>EFG? ?>64D=OE ?>4D4745?5=<= 6 
?N5O5 ?><5M5=<O.

�>=EFDG>F<O 4>D>6=>= >4564O ?D54GE<>FD5=4 E GG5F>< =47DG7>< >F 
?>64D=OE <4L<=.

5. �?<E4=<5 < >5>E=>64=<5 ?D<=OFOE >>=EFDG>F<6=OE <
>5N5<=>-??4=<D>6>G=OE D5L5=<=, EF5?5=< >7=5EF>=>>EF< < >?4EE4
>>=EFDG>F<6=>= ?>64D=>= >?4E=>EF< EFD><F5?L=OE >>=EFDG>F<=

�5N5<=>-??4=<D>6>G=O5 D5L5=<O 744=<O ?D<=OFO <EE>4O <7 >E>55==>EF5= 
57> DG=>F<>=4?L=>-F5E=>?>7<G5E>>7> ?D54=47=4G5=<O, D47<5D>6 < D5?L5D4 
??>M44>< 74EFD>=><. 

�D< ?>64D5 GEF>=G<6>EFL 744=<= < E>>DG65=<= >55E?5G<645FEO, ?D5645 
6E57>, >>=EFDG>F<6=O<< <5D>?D<OF<O<<, 74>?NG4NM<<<EO 6 ?D<<5=5=<< =5EGM<E 
>>=EFDG>F<= E ?D545?4<< >7=5EF>=>>EF<, E>>F65FEF6GNM<E EF5?5=O< >7=5EF>=>>EF< 
744=<= < E>>DG65=<=. 

�?O ?D>5>F<DG5<>7> >5N5>F4 ?D<<5=5=O <4F5D<4?O, >55E?5G<64NM<5 
FD55G5<O5 ?D545?O >7=5EF>=>>EF< >>=EFDG>F<= < ?D545?O D4E?D>EFD4=5=<O >7=O.
'7?O E>?DO65=<O EFD><F5?L=OE >>=EFDG>F<= ?D54GE<4FD<64NFEO E ?D545?>< 
>7=5EF>=>>EF< =5 <5=55 ?D545?4 >7=5EF>=>>EF< >>=EFDG>F<=. 

%FD><F5?L=O5 >>=EFDG>F<<, ?D<<5=O5<O5 ?D< EFD><F5?LEF65, =5 
E?>E>5EF6GNF E>DOF><G D4E?D>EFD4=5=<N 7>D5=<O. 

�E5 =>D<<DG5<O5 EFD><F5?L=O5 >>=EFDG>F<<, <E?>?L7GNM<5EO ?D<
EFD><F5?LEF65 E>>F65FEF6GNF >?4EEG ?>64D=>= >?4E=>EF< �0, GF> <E>?NG45F 
6>7<>6=>EFL D4E?D>EFD4=5=<O ?> =<< >7=O 6 E?GG45 ?>64D4.

�>?<G5EF6> < L<D<=4 6OE>4>6 <7 744=<= < E>>DG65=<=, 4 F4>65 465D=OE 
?D>5<>6 6  ?><5M5=<OE < =4 ?GFOE M64>G4F<<, ?D<=OFO <7 =5>5E>4<<>EF< 
>55E?5G5=<O 6>7<>6=>EF< E6>56D5<5==>= < 55E?D5?OFEF65==>= M64>G4F<< 
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D45>F4NM<E ?N45=. �65D< M64>G4F<>==OE 6OE>4>6 >F>DO64NFEO ?> =4?D46?5=<N 
M64>G4F<< <7 ?><5M5=<=. 

�F45?>4 EF5= < ?>F>?>>6 =4 ?GFOE M64>G4F<< ?D54GE<>FD5=4 <7 =57>DNG<E 
<4F5D<4?>6. 

�>?O =4 ?GFOE M64>G4F<< 6O?>?=<FL <7 <4F5D<4?>6 ?> >?4EEG ?>64D=>= 
>?4E=>EF< =5 5>?55 ��2. �F45?>G ?>F>?>>6 < EF5= =4 ?GFOE M64>G4F<< 6O?>?=OFL 
<7 <4F5D<4?>6 ?> >?4EEG ?>64D=>= >?4E=>EF< =5 5>?55 ��1.

�?O ?GF5= M64>G4F<< ?D54GE<>FD5=> M64>G4F<>==>5 >E65M5=<5 6 
E>>F65FEF6<< E FD55>64=<O<< %� 52.13330.2011, %� 1.13130.2009 «%<EF5<O 
?D>F<6>?>64D=>= 74M<FO. -64>G4F<>==O5 ?GF< < 6OE>4O».

�?O >55E?5G5=<O 67DO6>?>64D>557>?4E=>EF< ?><5M5=<= E >4F57>D<5= 
?D><76>4EF64 «�» ?D54GE<>FD5=> GEFD>=EF6> ?57>>E5D4EO645<OE >>=EFDG>F<= 
(�%�) E>7?4E=> ?.6.2.5 %� 4.13130.2013 «�7D4=<G5=<O D4E?D>EFD4=5=<O ?>64D4 =4 
>5N5>F4E 74M<FO». � >4G5EF65 ?57>>E5D4EO645<OE >>=EFDG>F<= <E?>?L7>64=> 
?57>>5 EF5=>6>5 >7D4645=<5 <7 EM=46<G-?4=5?5=. �?>M44L �%� ?D<=OF4 <7 D4EG5F4 
0,03 =4 1<³ E6>5>4=>7> >5N5<4 ?><5M5=<O.

%>?44 =4?>?L=>7> ED4=5=<O 75D=4 (?>7.12 ?> ��') 3 D5>>=EFDG<DG5<>5 
744=<5

%>7?4E=> %� 2.13130.2020 ?.6.1.1 >?4EE >>=EFDG>F<6=>= ?>64D=>= >?4E=>EF< 
3 %�.

'D>65=L >F65FEF65==>EF< ?> $� 7384 3 =>D<4?L=O=.
�?4EE DG=>F<>=4?L=>= ?>64D=>= >?4E=>EF< 3 $5.2 ?> EF. 32 7123-$� 

«&$>&��». 
�4F57>D<O ?> ?>64D=>= >?4E=>EF< - �.

�E=>6=O5 EFD><F5?L=O5 ?>>474F5?<:
�?>M44L 74EFD>=>< 3 3170,7 <2;

�5M4O ??>M44L 3 3472,4 <2;

%FD><F5?L=O= >5N5< 3 47303,9 <3.

�44=<5 E>?444 =4?>?L=>7> ED4=5=<O 75D=4 3 =5>F4??<645<>5.
$47<5DO E>?444 6 ??4=5 60E48 <.

� ?D>F5EE5 ?D>5>F<D>64=<O E4D4>F5D<EF<>< >7=5EF>=>>EF< < ?>64D=>= 
>?4E=>EF< 744=<= >?D545?O?<EL 6 E>>F65FEF6<< E FD55>64=<O<< [$�-123, EF.87, 88]. 
�D54GE<>FD5==O5 ?D>5>F>< ?D545?O >7=5EF>=>>EF< EFD><F5?L=OE >>=EFDG>F<=, 
?D>F<6>?>64D=OE ?D57D44 (?> <E E?>E>5=>EF< E>?D>F<6?OFLEO 6>745=EF6<N 
?>64D4 < D4E?D>EFD4=5=<N 57> >?4E=OE D4>F>D>6 6 GE?>6<OE EF4=44DF=OE 
<E?OF4=<=) 6 E>>F65FEF6<< E [$�-123, F45?.21] 4?O 744=<O III EF5?5=< 
>7=5EF>=>>EF< ?D<6545=O 6 F45?<F5 5.1.

&45?<F4 5.1
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%FD><F5?L=O5 >>=EFDG>F<<, 74?>?=5=<5 
?D>5<>6

�D545? >7=5EF>=>>EF< 
EFD><F5?L=OE 

>>=EFDG>F<=, =5 <5=55

�?4EE ?>64D=>= 
>?4E=>EF<

III EF5?5=L >7=5EF>=>>EF< E>?444
�5EGM<5 EF5=O, >>?>==O, =5EGM<5 

>>=EFDG>F<< ?>>DOF<O R 45 �0

�4DG6=O5 =5=5EGM<5 EF5=O E 15 �0
�5D5>DOF<O <564GMF46=O5 
(55EG5D44G=O5 ?>>DOF<O) REI 45 �0

%FD><F5?L=O5 >>=EFDG>F<< ?5EF=<G=OE 
>?5F>> 6=GFD5==<5 EF5=O REI 60 �0

%FD><F5?L=O5 >>=EFDG>F<< ?5EF=<G=OE 
>?5F>> <4DL< < ??>M44>< ?5EF=<F R 45 �0

%FD><F5?L=O5 >>=EFDG>F<< 55EG5D44G=OE 
?>>DOF<= D5D<O, 54?><, ?D>7>=O R 15 �0

6. �?<E4=<5 < >5>E=>64=<5 ?D>5>F=OE D5L5=<= ?> >55E?5G5=<N
557>?4E=>EF< ?N45= ?D< 6>7=<>=>65=<< ?>64D4

�4M<F4 ?N45= =4 ?GFOE M64>G4F<< >55E?5G<645FEO >><??5>E>< >5N5<=>-

??4=<D>6>G=OE, MD7>=><<G5E><E, >>=EFDG>F<6=OE, <=65=5D=>-F5E=<G5E><E < 
>D74=<74F<>==OE <5D>?D<OF<=. 

-64>G4F<>==O5 ?GF< 6 ?D545?4E ?><5M5=<O >55E?5G<64NF 557>?4E=GN 
M64>G4F<N ?N45= G5D57 M64>G4F<>==O5 6OE>4O <7 44==>7> ?><5M5=<O 557 GG5F4 
?D<<5=O5<OE 6 =5< ED54EF6 ?>64D>FGL5=<O < ?D>F<6>4O<=>= 74M<FO. 

�4 ?D545?4<< ?><5M5=<= 74M<F4 ?GF5= M64>G4F<< ?D54GE<4FD<645FEO <7 
GE?>6<O >55E?5G5=<O 557>?4E=>= M64>G4F<< ?N45= E GG5F>< DG=>F<>=4?L=>= 
?>64D=>= >?4E=>EF< ?><5M5=<=, 6OE>4OM<E =4 M64>G4F<>==O= ?GFL, G<E?5==>EF< 
M64>G<DG5<OE, EF5?5=< >7=5EF>=>>EF< < >?4EE4 >>=EFDG>F<6=>= ?>64D=>= 
>?4E=>EF< 744=<O, >>?<G5EF64 M64>G4F<>==OE 6OE>4>6 E MF464 < <7 744=<O 6 F5?><. 

�>64D=4O >?4E=>EFL EFD><F5?L=OE <4F5D<4?>6 ?>65DE=>EF=OE E?>56 
>>=EFDG>F<= (>F45?>> < >5?<F>6>>) 6 ?><5M5=<OE < =4 ?GFOE M64>G4F<< 74 
?D545?4<< ?><5M5=<= >7D4=<G<645FEO 6 746<E<<>EF< >F DG=>F<>=4?L=>= ?>64D=>= 
>?4E=>EF< ?><5M5=<O < 744=<O E GG5F>< 4DG7<E <5D>?D<OF<= ?> 74M<F5 ?GF5= 
M64>G4F<< (EF. 89 $545D4?L=>7> 74>>=4 7123-$�; %� 1.13130.2009 «-64>G4F<>==O5 
?GF< < 6OE>4O»).

�D545?L=> 4>?GEF<<>5 D4EEF>O=<5  >F  =4<5>?55  G44?5==>7>  D45>G57>  <5EF4  
4>  5?<64=L57> M64>G4F<>==>7>  6OE>44, <7<5DO5<>5 ?> >E< M64>G4F<>==>7> ?GF<, 
?D<=OF> 6 746<E<<>EF< >F >?4EE4 DG=>F<>=4?L=>= ?>64D=>= >?4E=>EF< < >4F57>D<< 
?>64D=>= >?4E=>EF<, G<E?5==>EF< M64>G<DG5<OE, 75><5FD<G5E><E ?4D4<5FD>6 
?><5M5=<= < M64>G4F<>==OE ?GF5=, >?4EE4 >>=EFDG>F<6=>= ?>64D=>= >?4E=>EF< < 
EF5?5=< >7=5EF>=>>EF< 744=<O E>7?4E=> FD55>64=<O< EF. 89  $545D4?L=>7> 74>>=4 
7123-$� < %� 1.13130.2009.
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�>7. 12 ?> ��' - 744=<5 E>?444 <<55F 6>E5<L M64>G4F<>==OE 6OE>4>6, 6E5 >=< 
>D74=<7>64=O G5D57 >4?<F>G 6 6>D>F4E ?> >EO< 1 < 11, ?D>FO65==>EFL 
M64>G4F<>==>7> ?GF< =5 ?D56OL45F 110<, L<D<=4 =5 <5=55 1000<<, 6OE>F4 =5 
<5=55 2<, GF> G4>6?5F6>DO5F FD55>64=<O< ?.4.3.4; 9.2.7 %� 1.13130.2009. 

,<D<=4 M64>G4F<>==OE 6OE>4>6 (465D5=) 6 744=<OE =5 <5=55 0,8 <, 6OE>F4 3 

=5 <5=55 1,9<, E>7?4E=> ?. 4.2.5 %� 1.130130.2009. 
�?O E6>56D5<5==>7> >5=4DG65=<O >G47>6 747>D4=<O =4 >5N5>F5 

?D54GE<4FD<645FEO GEFD>=EF6> 44D5E=>= 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<<. 
�D>5>F<DG5<O5 >5N5>FO E>7?4E=> ?. 6 ?D<?>65=<O 1 < ?. 9 ?D<?>65=<O 2  

$� 7116 >F=>EOFEO > >?4E=O< ?D><76>4EF65==O< >5N5>F4< III >?4EE4, F4> >4> =4 
=<E >EGM5EF6?O5FEO ED4=5=<5 75D=4, E>?>==>7> > E4<>E>7D564=<N < 
E4<>6>77>D4=<N. 

 

7. �5D5G5=L <5D>?D<OF<= ?> >55E?5G5=<N 557>?4E=>EF<    
?>4D4745?5=<= ?>64D=>= >ED4=O ?D< ?<>6<44F<< ?>64D4. 

 

�55E?5G5=<5 45OF5?L=>EF< ?>64D=OE ?>4D4745?5=<= ?D54GE<>FD5=> EF.90 
$545D4?L=>7> 74>>=4 >F 22.07.20087. 7123-$�. &GL5=<5 6>7<>6=>7> ?>64D4 < 
?D>6545=<5 E?4E4F5?L=OE D45>F >55E?5G<64NFEO >>=EFDG>F<6=O<<, >5N5<=>-

??4=<D>6>G=O<<, <=65=5D=>-F5E=<G5E><<< < >D74=<74F<>==O<< <5D>?D<OF<O<<.  
� =<< >F=>EOFEO: 

- GEFD>=EF6> E?5F<4?L=OE ?>64D=OE ?D>574>6 < ?>4N574=OE ?GF5= 4?O 
?>64D=>= F5E=<><, E>6<5M5==OE E DG=>F<>=4?L=O<< ?D>5744<< < 
?>4N5744<< > 744=<O< < E>>DG65=<O<. 

- GEFD>=EF6> =4DG6=OE ?>64D=OE ?5EF=<F < >55E?5G5=<5 4DG7<E 
E?>E>5>6 ?>4N5<4 ?5DE>=4?4 ?>64D=OE ?>4D4745?5=<= < ?>64D=>= 
F5E=<>< =4 MF46< < =4 >D>6?N 744=<=; 

- GEFD>=EF6> ?D>F<6>?>64D=>7> 6>4>?D>6>44, GEFD>=EF6> EGE>FDG5>6 < 
?>64D=OE 5<>>EF5= (D575D6G4D>6); 

- >5>DG4>64=<5 744=<= 6 =5>5E>4<<OE E?GG4OE <=4<6<4G4?L=O<< < 
>>??5>F<6=O<< ED54EF64<< E?4E5=<O ?N45=. 

�O5>D MF<E <5D>?D<OF<= 746<E<F >F EF5?5=< >7=5EF>=>>EF<, >?4EE4 
>>=EFDG>F<6=>= < DG=>F<>=4?L=>= ?>64D=>= >?4E=>EF< >5N5>F4. 

$545D4?L=O= 74>>= >F 22.07.20087. 7123-$� E>45D6<F FD55>64=<O > 
ED54EF64< <=4<6<4G4?L=>= 74M<FO ?>64D=OE < 7D4644= ?D< ?>64D5, 6 F>< G<E?5: > 
ED54EF64<  <=4<6<4G4?L=>=  74M<FO   >D74=>6 4OE4=<O < 7D5=<O ?>64D=OE; > 
E?5F<4?L=>= 74M<F=>= >45645 ?>64D=OE; > ED54EF64< E4<>E?4E5=<O ?>64D=OE; 
FD55>64=<O > ED54EF64< <=4<6<4G4?L=>= 74M<FO < E?4E5=<O 7D4644= ?D< ?>64D5, 4 
F4>65 FD55>64=<O > ?>64D=><G >5>DG4>64=<N (EF.118-132). 

 %>7?4E=> ��%& 12.1.004-91* >?4E=O<< D4>F>D4<<, 6>745=EF6GNM<<< =4 
?N45= < <4F5D<4?L=O5 F5==>EF<, O6?ONFEO: 
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- ??4<O < <E>DO;  
- ?>6OL5==4O F5<?5D4FGD4 >>DG64NM5= ED54O; 
- F>>E<G=O5 ?D>4G>FO 7>D5=<O < F5D<<G5E>>7> D47?>65=<O; 
- 4O<; 
- ?>=<65==4O >>=F5=FD4F<O ><E?>D>44. 

� 6F>D<G=O< ?D>O6?5=<O< >?4E=OE D4>F>D>6 ?>64D4, 6>745=EF6GNM<< =4 
?N45=, <4F5D<4?L=O5 F5==>EF< < E4D4>F5D=O< 4?O 744=<= < E>>DG65=<= 
?D54?D<OF<O >F=>EOFEO: >E>>?><, G4EF< D47DGL<6L<EEO >>=EFDG>F<=; 
M?5>FD<G5E><= F>>, 6>7=<>L<= 6 D57G?LF4F5 6O=>E4 6OE>>>7> =4?DO65=<O =4 
F>>>?D>6>4OM<5 G4EF< >>=EFDG>F<=, 4??4D4F>6 <?< 47D574F>6; >?4E=O5 D4>F>DO 
6>7<>6=>7> 67DO64 ?> ��%& 12.1.010 6E?54EF6<5 ?>64D4; >7=5FGL4M<5 65M5EF64. 

% GG5F>< ?5D5G<E?5==OE >?4E=OE D4>F>D>6 ?>64D4, ?D>F<6>?>64D=>5 
>55E?5G5=<5 4>EFG?4 ?<G=>7> E>EF464 ?>64D=OE ?>4D4745?5=<= < ?D>6545=<O 
E?4E4=<O ?N45= ?D< ?>64D5 4>EF<745FEO ?D<<5=5=<5< ?D54GE<>FD5==OE ?D>5>F>< 
E?>E>5>6 ?D>F<6>?>64D=>= 74M<FO.  

�E5 ?4EE<6=O5 < 4>F<6=O5 E?>E>5O ?D>F<6>?>64D=>= 74M<FO ?D54?D<OF<O 
>55E?5G<64NF 4>EFG? ?<G=>7> E>EF464 ?>64D=OE ?>4D4745?5=<= < ?D>6545=<5 
E?4E4=<O ?N45=. 

� E>>F65FEF6<< E FD55>64=<O<< D4745? 7 %� 4.13130.2013 4?O 744=<= 

>55E?5G5=> GEFD>=EF6>: 
2 ?>64D=OE ?D>574>6 < ?>4N574=OE ?GF5= > 744=<O< < E>>DG65=<O< 4?O 

?>64D=>= F5E=<><, E?5F<4?L=OE <?< E>6<5M5==OE E 
DG=>F<>=4?L=O<< ?D>5744<< < ?>4N5744<< (D4EEF>O=<5 >F >D4O 
?D>5765= G4EF<, >55E?5G<64NM5= ?D>574 ?>64D=OE 46F><>5<?5= 4> 
EF5= 744=<O 6O?>?=5=> =5 5>?55 8 <5FD>6 (4?O 744=<= < E>>DG65=<= 
6OE>F>= 4> 28<) < 8-10< (4?O 744=<= < E>>DG65=<= 6OE>F>= 5>?55 28<) 
E>7?4E=> D4745?4 8 ?. 8.2,8.6,8.8 %� 4.13130.2013 < L<D<=4 ?D>574>6 
?D<=OF4 4,2<);  

2 ?>>DOF<5 < >>=EFDG>F<< ?D>574>6 D4EEG<F4=O =4 =47DG7>G >F 
?>64D=OE 46F><>5<?5= 4> 43 F>==, => =5 <5=55 16 F =4 >EL;  

2 ED54EF6 ?>4N5<4 ?<G=>7> E>EF464 ?>4D4745?5=<= ?>64D=>= >ED4=O < 
?>64D=>= F5E=<>< =4 >D>6?N 744=<O; 

2 ?D>F<6>?>64D=>7> 6>4>?D>6>44. 
�>4N574 > >5N5>FG >EGM5EF6?O5FEO ?> EGM5EF6GNM5= 4>D>75. 

$4745?5=<5 6=GFD<??>M44>G=>= E5F< =4 D5<>=F=O5 GG4EF>< >55E?5G<645F ?D< 
6O>?NG5=<< >4=>7> <7 GG4EF>>6 >F>?NG5=<5 =5 5>?55 ?OF< ?>64D=OE 7<4D4=F>6. 

�D54?D<OF<5 D4E?>?>65=> 6 D4=>=5 6O5744 24 ?>64D=>-E?4E4F5?L=>= G4EF< 
$��' «5 >FDO4 $�% ?> $>EF>6E>>= >5?4EF<». �65EGF>G=> 6 5>56>< D4EG5F5 
=4E>4<FEO 9 G5?>65> ?<G=>7> E>EF464 < 3 54<=<FO ?>64D=>= F5E=<><. $4EEF>O=<5 4> 
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>5N5>F4 ?D54?>?4745<>7> ?>64D4 3,4><. $4E?>?>65=<5 ?D54?D<OF<O >55E?5G<645F 
?D<5OF<5 ?>64D=OE ?>4D4745?5=<= 6 ?D545?4E 10 <<=. 

�5>F4??<645<O5 ?><5M5=<O 557 6=GFD5==57> ?D>F<6>?>64D=>7> 6>4>?D>6>44 
>E=4M5=O >7=5FGL<F5?O<<. 

 

8. %6545=<O > >4F57>D<< 744=<=, E>>DG65=<=, ?><5M5=<=, 
>5>DG4>64=<O < =4DG6=OE GEF4=>6>> ?> ?D<7=4>G 67DO6>?>64D=>= < 

?>64D=>= >?4E=>EF<. 
�?4EE<D<>4F<O 744=<=, E>>DG65=<=, EFD>5=<= < ?><5M5=<= ?> ?>64D=>= < 

67DO6>?>64D=>= >?4E=>EF< ?D<<5=O5FEO 4?O GEF4=>6?5=<O FD55>64=<= ?>64D=>= 
557>?4E=>EF<, =4?D46?5==OE =4 ?D54>F6D4M5=<5 6>7<>6=>EF< 6>7=<>=>65=<O 
?>64D4 < >55E?5G5=<5 ?D>F<6>?>64D=>= 74M<FO ?N45= < <<GM5EF64 6 E?GG45 
6>7=<>=>65=<O ?>64D4 6 744=<OE, E>>DG65=<OE, EFD>5=<OE < ?><5M5=<OE. 

 � E>>F65FEF6<< E> EF. 27 $545D4?L=>7> 74>>=4 7123-$� 744=<O < ?><5M5=<O 
?D><76>4EF65==>7> < E>?44E>>7> =47=4G5=<O ?>4?564F >4F57>D<D>64=<N ?> 
?>64D=>= < 67DO6>?>64D=>= >?4E=>EF<.   

�4F57>D<< 744=<=, E>>DG65=<=, ?><5M5=<= < =4DG6=OE GEF4=>6>> ?> 
?D<7=4>G 67DO6>?>64D=>= < ?>64D=>= >?4E=>EF< ?D54EF46?5=O 6 F45?<F5 1. 

&45?<F4 1 

�>7. 
?> 

��' 

�4<<5=>64=<5 >5N5>F4 

'D>65=L  
>F65FEF65==>EF< 

?> $� 7384 

�4F57>D<O 

�?4EE 
?> 

�'- 

12 %>?44 =4?>?L=>7> ED4=5=<O 75D=4 �>D<4?L=O= � �-II4 

 

 

9. �5D5G5=L 744=<=, E>>DG65=<=, ?><5M5=<= < >5>DG4>64=<O, ?>4?564M<E 
74M<F5 46F><4F<G5E><<< GEF4=>6>4<< ?>64D>FGL5=<O < >5>DG4>64=<N 

 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<5=. 
 

� E>>F65FEF6<< E FD55>64=<O<< ?. 2 EF4FL< 54 $� 7 123-2008 «&5E=<G5E><= 
D57?4<5=F > FD55>64=<OE ?>64D=>= 557>?4E=>EF<» (6 D54. $545D4?L=>7> 74>>=4 >F 
10.07.2012 7117-$�), ?D<?>65=<N «�» %� 5.13130.2009 «%<EF5<O 
?D>F<6>?>64D=>= 74M<FO. 'EF4=>6>< ?>64D=>= E<7=4?<74F<< < ?>64D>FGL5=<O 
46F><4F<G5E><5. �>D<O < ?D46<?4 ?D>5>F<D>64=<O», ?D>5>F<DG5<O5 744=<O 
?>4?564F 74M<F5 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<5=. 

� E>>F65FEF6<< E FD55>64=<O<< ?.1 EF4FL< 54 $545D4?L=>7> �4>>=4 
$>EE<=E>>= $545D4F<< >F 22.07.20087. 7 123-$� 7 123-2008 «&5E=<G5E><= 
D57?4<5=F > FD55>64=<OE ?>64D=>= 557>?4E=>EF<» (6 D54. $545D4?L=>7> 74>>=4 >F 
10.07.2012 N 117-$�) E<EF5<O >5=4DG65=<O ?>64D4 (GEF4=>6>< < E<EF5<O 
?>64D=>= E<7=4?<74F<<, >?>65M5=<O < G?D46?5=<O M64>G4F<5= ?N45= ?D< ?>64D5) 
>55E?5G<64NF 46F><4F<G5E>>5 >5=4DG65=<5 ?>64D4 74 6D5<O, =5>5E>4<<>5 4?O 
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6>?NG5=<O E<EF5< >?>65M5=<O > ?>64D5 6 F5?OE >D74=<74F<< 557>?4E=>= M64>G4F<< 
?N45=. 

$5>>=EFDG<DG5<O= >5N5>F 3 ?>7.12 (%>?44 =4?>?L=>7> ED4=5=<O 75D=4) 

E>7?4E=> ?.9 %� 5.13130.2009 (�44=<O < E>>DG65=<O ?> ?5D5D45>F>5 < ED4=5=<N 
75D=4) ?>4?56<F >5>DG4>64=<N �'�% =5746<E<<> >F ??>M44< < MF46=>EF<. 

 

 

10. �?<E4=<5 < >5>E=>64=<5 ?D>F<6>?>64D=>= 74M<FO 

 (�'�%, G?D46?5=<O M64>G4F<5= ?N45= ?D< ?>64D5, 
 6=GFD5==57> ?D>F<6>?>64D=>7> 6>4>?D>6>44, ?D>F<6>4O<=>= 74M<FO) 

 

� E>>F65FEF6<< E FD55>64=<O<< 7 123-$� >F 22 <N?O 2008, ?.1, EF.54 E<EF5<O 
>5=4DG65=<O ?>64D4 (GEF4=>6>< < E<EF5<O ?>64D=>= E<7=4?<74F<<, >?>65M5=<O < 
G?D46?5=<O M64>G4F<5= ?N45= ?D< ?>64D5) >55E?5G<64NF 46F><4F<G5E>>5 
>5=4DG65=<5 ?>64D4 74 6D5<O, =5>5E>4<<>5 4?O 6>?NG5=<O E<EF5< >?>65M5=<O > 
?>64D5 6 F5?OE >D74=<74F<< 557>?4E=>= M64>G4F<< ?N45=. 

� E>>F65FEF6<< E FD55>64=<O<< %� 5.13130.2009, ?. 8, F45?. �1 744=<O < 
E>>DG65=<O ?> ?5D5D45>F>5 < ED4=5=<N 75D=4 ?>4?564F >5>DG4>64=<N �'�% 
=5746<E<<> >F ??>M44< < MF46=>EF<. 

�4M<F5 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<5= ?>4?564F ?D>5>F<DG5<O5 
744=<O, >F<5G5==O5 6 F45?<F5 9.8.1 (6 E>>F65FEF6<< E> EFDG>FGD=O<< EE5<4<< 
7D4D<G5E>>= G4EF<). 

&45?<F4 9.8.1 

�>7. ?> 
��' 

�D>5>F<DG5<>5 744=<5, EFD>5=<5, E>>DG65-
=<5 (M>E??<>4F<O 744=<=) 

�'�%                  
(%� 5.13130.2009 F45?. 

�1) 

�D<<5G4=<5 

 1 MF4? EFD><F5?LEF64   

12. %>?44 =4?>?L=>7> ED4=5=<O 75D=4 ?D54GE<>FD5=> 
&45?<F4 �1 ?.8 

%�5.13130.2009 

 

%<EF5<4 ?>64D=>= E<7=4?<74F<< (%�%) ?D54=47=4G5=4 4?O >5=4DG65=<O >G474 
6>77>D4=<O < 6O44G< E<7=4?4 >><4=4O =4 G?D46?5=<5:  

E<EF5<4<< >?>65M5=<O < G?D46?5=<O M64>G4F<5= ?N45= ?D< ?>64D5; 
?5D544G4 E>>5M5=<= =4 ?>64D=O= ?>EF. 
�5>DG4>64=<5 ?><5M5=<= E<EF5<>= 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<< 

?D54GE<>FD5=> <EE>4O <7 FD55>64=<= %� 5.13130.2009.  

$47<5M5=<5 ?D<5<=>->>=FD>?L=>7> ?D<5>D4 < ?>64D=OE <765M4F5?5= 
6O?>?=5=> 6 E>>F65FEF6<< E FD55>64=<O<< %� 5.13130.2009. �>64D=O= ?>EF 
=4E>4<FLEO 6 ?><5M5=<5 456GD=>7> E<5=O ?>7. 16 ?> ��'. �><5M5=<5 ?>64D=>7> 
?>EF4 E>>F65FEF6G5F FD55>64=<O< ?.13.14.11, ?.13.14.12 %�5.13130.2009. 
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�?>M44L, 74M<M45<4O >4=<< ?>64D=O< <765M4F5?5<, >?D545?5=4 ?> 
F5E=<G5E><< E4D4>F5D<EF<>4<, 44==O<< 746>44-<77>F>6<F5?O, => =5 5>?55 
G>474==>= 6 %� 5.13130.2009, ?.13.4.1. 

$GG=O5 ?>64D=O5 <765M4F5?< ?D54GE<4FD<64NFEO E>7?4E=> %� 5.13130.2009, 

?. 13.3. 

'EF4=>6>4 ?>64D=OE <765M4F5?5= ?D><76>4<FEO 6 E>>F65FEF6<< E 
FD55>64=<O<< F5E=<G5E>>= 4>>G<5=F4F<< =4 44==O= <765M4F5?L. 

� <5EF4E, 745 <<55FEO >?4E=>EFL <5E4=<G5E>>7> ?>6D5645=<O <765M4F5?O, 
<>65F 5OFL ?D54GE<>FD5=4 74M<F=4O >>=EFDG>F<O, =5 =4DGL4NM4O 57> 
D45>F>E?>E>5=>EF< < MDD5>F<6=>EF< >5=4DG65=<O 747>D4=<O. 

�D< ?4D4??5?L=>= >F>DOF>= ?D>>?44>5 D4EEF>O=<5 <564G ?D>6>44<< < 
>455?O<< L?5=D>6 ?>64D=>= E<7=4?<74F<< < E>54<=<F5?L=O<< ?<=<O<< E<EF5<O 
>?>65M5=<O E >E65F<F5?L=O<< ?D<5>D4<< E>EF46?O5F 0,5 <. ,?5=DO ?>64D=>= 
E<7=4?<74F<< 6O?>?=ONFEO E GE?>6<5< >55E?5G5=<O 46F><4F<G5E>>7> >>=FD>?O 
F5?>EF=>EF< <E ?> 6E5= 4?<=5. �E?>?=5=<5 L?5=D>6 ?>64D=>= E<7=4?<74F<< 
?D54GE<>FD5=> E4<>EF>OF5?L=O<< ?D>6>44<< < >455?O<< E <54=O<< 6<?4<<. 
�5>DG4>64=<5 E<EF5<O ?>64D=>= E<7=4?<74F<<, ?D<<5=U==>5 6 ?D>5>F5, <<55F 
E5DF<D<>4FO E>>F65FEF6<O < ?>64D=>= 557>?4E=>EF<. 

�?O ?<F4=<O E<EF5< ?>64D=>= E<7=4?<74F<< ?D>5>F>< ?D54GE<4FD<64NFEO 
<EF>G=<>< 55E?5D55>==>7> ?<F4=<O. �EF>G=<>< 55E?5D55>==>7> ?<F4=<O 
?>76>?ONF 6 E?GG45 ?>?=>7> >F>?NG5=<O M?5>FD>?<F4=<O >F E5F<, D45>F4FL >F 
4>>G<G?OF>D=OE 54F4D5= >5>DG4>64=<N 6 F5G5=<5 24 G4E>6 6 456GD=>< D56<<5 < 
F5G5=<< 3 G4E>6 6 D56<<5 FD56>7<.  

�E5 <5F4??<G5E><5 G4EF< M?5>FD>>5>DG4>64=<O 7475<?5=O E>7?4E=> �'-. 
%<EF5<4 >?>65M5=<O < G?D46?5=<O M64>G4F<5= ?N45= ?D< ?>64D5 ?D>5>F<DG5FEO 6 
F5?OE >55E?5G5=<O 557>?4E=>= M64>G4F<< ?N45= ?D< ?>64D5. %<EF5<4 >?>65M5=<O 
?N45= > ?>64D5 O6?O5FEO 3 E>EF46=>= G4EFLN 46F><4F<G5E>>= ?>64D=>= 74M<FO 6 
?D>5>F<DG5<OE ?><5M5=<OE < ?D54=47=4G5=4 4?O >?>65M5=<O ?N45= > 
6>7=<>=>65=<< ?>64D4.  

'?D46?5=<5 M64>G4F<5= >EGM5EF6?O5FEO:  
3 6>?NG5=<5< 76G>>6>7> >?>65M5=<O; 
�?>65M5=<5 ?N45= > ?>64D5 >EGM5EF6?O5FEO 6 46F><4F<G5E>>< D56<<5 ?D< 

ED454FO64=<< E<EF5<O ?>64D=>= E<7=4?<74F<< < 6 DGG=>< D56<<5 E F5=FD4?L=>7> 
?D<5>D4, =4E>4OM57>EO 6 ?><5M5=<< ?>64D=>7> ?>EF4. �D>>?44>4 L?5=D>6 
>?>65M5=<O ?N45= > ?>64D5 >EGM5EF6?O5FEO E5DF<D<F<D>64==O< ��� D5L5=<5<, 
D4EEG<F4==O< =4 E>ED4=5=<5 D45>F>E?>E>5=>EF< E<EF5<O 6 GE?>6<OE ?>64D4 6 
F5G5=<5 6D5<5=<, =5>5E>4<<>7> 4?O ?>?=>= M64>G4F<< ?N45= 6 557>?4E=GN 7>=G. 
%�'- 6>?NG45FEO >F >><4=4=>7> <<?G?LE4, D>D<<DG5<>7> 46F><4F<G5E>>= 
GEF4=>6>>= ?>64D=>= E<7=4?<74F<<. %<EF5<4 M?5>FD>E=4565=<O >5>DG4>64=<O 
%�'- >F=>E<FEO > 1->= >4F57>D<< M?5>FD>?D<5<=<>>6 ?> =44U6=>EF< 
M?5>FD>E=4565=<O E>7?4E=> �'- (>F >4=>7> <EF>G=<>4 F>>4 E 46F><4F<G5E><< 
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?5D5>?NG5=<5 =4 D575D6=>5 ?<F4=<5). �>?<G5EF6> 76G>>6OE ?>64D=OE 
>?>65M4F5?5=, <E D4EEF4=>6>4 < <>M=>EFL >55E?5G<64NF GD>65=L 76G>4 6> 6E5E 
<5EF4E ?>EF>O==>7> < 6D5<5==>7> ?D55O64=<O ?N45= 6 E>>F65FEF6<< E 
FD55>64=<O<< %� 3.13130.2009 

�?>65M4F5?< =5 <<5NF D57G?OF>D>6 7D><>>EF< < ?>4>?NG5=O > E5F< 557 
D47NU<=OE GEFD>=EF6. �?O 74M<FO ?<=<< >?>65M5=<O %�'- >F >>D>F><E 
74<O>4=<= ?D< F5D<<G5E>>< D47DGL5=<< >?>65M4F5?5=, ?D54GE<>FD5=> 
<E?>?L7>64=<5 ��� &�, ?<5> 6EFD>5==>= 74M<FO. � F4>65 ?D54GE<4FD<645FEO 
DG=>F<>=<D>64=<5 %�'- 6 F5G5=<5 6D5<5=<, =5>5E>4<<>7> 4?O 7465DL5=<O 
M64>G4F<< ?N45= <7 ?><5M5=<= 744=<O. �D>6>44 < >455?< E>54<=<F5?L=OE ?<=<= 
%�'- ?D>>?44O64NFEO 6 EFD><F5?L=OE >>=EFDG>F<OE, >>D>54E <?< >4=4?4E <7 
=57>DNG<E <4F5D<4?>6. %>54<=<F5?L=O5 ?<=<< 6 %�'- E D5G56O< >?>65M5=<5< 
>55E?5G5=O E<EF5<>= 46F><4F<G5E>>7> >>=FD>?O <E D45>F>E?>E>5=>EF<. 

�6F><4F<G5E>4O ?>64D=4O E<7=4?<74F<O ?D54=47=4G5=4 4?O D4==57> 
>5=4DG65=<O < >?D545?5=<O >G474 6>77>D4=<O 6 >>=FD>?<DG5<>< ?><5M5=<<, 
6O44G< E<7=4?4 «����$» < «�5<E?D46=>EFL» 456GD=><G ?5DE>=4?G 6 ?><5M5=<< 
?>64D=>7> ?>EF4 3 6 ?><5M5=<5 456GD=>7> E<5=O ?>7. 16 ?> ��'. 

�O5>D GEF4=>6>> ?D>F<6>?>64D=>= 74M<FO E45?4= 6 E>>F65FEF6<< E 
FD55>64=<O<< %� 5.13130.2009, 6O5>D F<?4 E<EF5<O >?>65M5=<O ?N45= > ?>64D5 
E45?4= 6 E>>F65FEF6<< E FD55>64=<O<< %� 3.13130.2009. 'EF4=>6>< 

?D>F<6>?>64D=>= 74M<FO ?D54=47=4G5=O 4?O E6>56D5<5==>7> >5=4DG65=<O < 
D57<EFD4F<< 6>7=<>=>65=<O ?>64D4 6 74M<M45<OE ?><5M5=<OE, >?>65M5=<O 
E?G65O >ED4=O < 456GD=>7> ?5DE>=4?4. 

'EF4=>6>< ?D>F<6>?>64D=>= 74M<FO >55E?5G<64NF 6>7<>6=>EFL D5L5=<O 
E?54GNM<E 7444G: 74M<F4 <4F5D<4?L=OE F5==>EF5=, =4E>4OM<EEO =4 >5N5>F5; 
>55E?5G5=<O =5>5E>4<<OE <5D ?> 74M<F5 6<7=< < 74>D>6LO ?<F, =4E>4OM<EEO 6 
744=<<, ?D< 6>7=<>=>65=<< ?>64D4. 

'EF4=>6>< ?D>F<6>?>64D=>= 74M<FO >5N54<=5=O 6 >5M<= >><??5>E. 
�=D>D<4F<O > E>EF>O=<< >ED4=O5<OE 7>= 6O6>4<FEO =4 ?G?LF >>=FD>?O < 
G?D46?5=<O >ED4==>-?>64D=O=, >>F>DO= GEF4=46?<645FEO 6 E?G655=>< 
?><5M5=<<. 

� E>EF46 E<EF5<O ?D>F<6>?>64D=>= 74M<FO 6E>4OF: 
3 ?D<5>D ?D<5<=>->>=FD>?L=O= < G?D46?5=<O ?>64D=O= 3 $G556-2��; 
3 ?>64D=O5 <765M4F5?<; 
3 ?>64D=O5 <765M4F5?< E 5?>>>< E>?DO65=<O; 
3 ED54EF64 76G>>6>7> >?>65M5=<O. 
�4 >ED4=O5<>< >5N5>F5 6 >5O74F5?L=>< ?>DO4>5 =47=4G45FEO: ?<F>, 

>F65FEF65==>5 74 M>E??G4F4F<N GEF4=>6><; 456GD=O= (>?5D4F<6=O=) ?5DE>=4?; 
456GD=O= ?5DE>=4?, >EGM5EF6?ONM<= >DG7?>EGF>G=O= >>=FD>?L 74 E>EF>O=<5< 
GEF4=>6><, =47=4G45FEO <7 ?5DE>=4?4 >5N5>F4.  
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%�% < %�'- 

�?O E6>56D5<5==>7> >5=4DG65=<O >G47>6 747>D4=<O =4 >5N5>F5 
?D54GE<4FD<645FEO GEFD>=EF6> 46F><4F<G5E>>= 44D5E=>= ?>64D=>= E<7=4?<74F<<. 

�D>5>F<D>64=<5  %�% 6O?>?=5=4 E>7?4E=> FD55>64=<= %� 5.13130.2009. 

�O5>D F<?4 ?>64D=OE <765M4F5?5= E>7?4E=> %� 5.13130.2009. 

�?O ?><5M5=<= >?4EE4 7>=O 22 ?D54GE<>FD5=O: 
3 �765M4F5?< ?>64D=O5 DGG=O5 67DO6>74M<M5==O5 Ex��535-1�-R3. 

3 �765M4F5?L ?>64D=O= F5??>6>= <=>7>F>G5G=O= 67DO6>74M<M5==O= �� 
102-2%2 (Addi-T) E 5?>>>< E>?DO65=<O �%; 

3 �7DO6>74M<M5==O5 76G>>6O5 >?>65M4F5?< ��-�-3. 

%>7?4E=> %� 5.13130.2009 E<EF5<>= 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<< 
74M<M4NFEO 6E5 ?><5M5=<O 744=<O =5746<E<<> >F ??>M44<, >D><5 ?><5M5=<=: 

3 E <>>DO<< ?D>F5EE4<<, 4GL56OE, ??464F5?L=OE 54EE5==>6, E4=G7?>6, <>=><; 
3 65=F>4<5D (74 <E>?NG5=<5< 6OFO6=OE, >5E?G6<64NM<E ?D><76>4EF65==O5 

?><5M5=<O >4F57>D<< � <?< �), =4E>E=OE 6>4>E=4565=<O, 5>=?5D=OE, F5??>6OE 
?G=>F>6; 

3 >4F57>D<< �4 (74 <E>?NG5=<5< ?><5M5=<= >4F57>D<< �4 6 744=<OE >?4EE>6 
DG=>F<>=4?L=>= ?>64D=>= >?4E=>EF< $1.1, $1.2, $2.1, $4.1 < $4.2) < � ?> 
?>64D=>= >?4E=>EF<; 

3 ?5EF=<G=OE >?5F>>; 
3 F4<5GD>6 < F4<5GD-L?N7>6; 
� ?D>5>F5 ?D54GE<>FD5=> <E?>?L7>64=<5 >5>DG4>64=<O >><?4=<< «$G556». 
�6F><4F<G5E>4O ?>64D=4O E<7=4?<74F<O ?D54=47=4G5=4 4?O D4==57> 

>5=4DG65=<O < >?D545?5=<O >G474 6>77>D4=<O 6 >>=FD>?<DG5<>< ?><5M5=<<, 
6O44G< E<7=4?4 «����$» < «�5<E?D46=>EFL» 456GD=><G ?5DE>=4?G 6 ?><5M5=<< 
?>64D=>7> ?>EF4. 

�4 ?GFOE M64>G4F<<, G 6OE>4>6 <7 744=<=, ?D54GE<>FD5=4 GEF4=>6>4 DGG=OE 
?>64D=OE <765M4F5?5= F<?4 E>>F65FEF6GNM57> >?4EEG 7>=O ?><5M5=<O E> 
6EFD>5==O< <7>?OF>D>< >>D>F>>7> 74<O>4=<O. $GG=O5 <765M4F5?< 
GEF4=46?<64NFEO E>7?4E=> %� 5.13130.2009. 

� >4G5EF65 ����� ?D54GE<4FD<645FEO ?D<5>D $G556-2��, 4?O E>?DO65=<O 
<=>7>F>G5G=OE <765M4F5?5= �� 102-2%2 ?D54GE<>FD5= 5?>> E>?DO65=<O �%. 
�5>DG4>64=<5 %�% GEF4=46?<645FEO 6 F5D<>L>4D G?<G=>7> <E?>?=5=<O E 
E>>F65FEF6GNM5= EF5?5=LN 74M<FO IP < <E?>?=5=<O '%�. 

����� GEF4=>6?5==O= =4 ?>7<F<< 12 E6O74= >?F<G5E><<< ?<=<O<< E6O7< E 
?><>MLN ?D5>5D47>64F5?O <54L->?F<>4 F<?4 MOXA TCF-142-S-ST E ����� 
GEF4=>6?5==>< 6 ?>7<F<< 16 6 ?><5M5=<< ?>64D=>7> ?>EF4, 6 >4G5EF65 ?D<5>D4 
>F>5D465=<O <=D>D<4F<< 5?>> $G556-��',. 

� E>>F65FEF6<< E %� 3.13130.2009 ?><5M5=<O 744=<= >5>DG4GNFEO E<EF5<>= 
>?>65M5=<O < G?D46?5=<O M64>G4F<5= ?N45= ?D< ?>64D5, 6>?NG4NM5= 6 E55O 
E65F>6>5 < 76G>>6>5 >?>65M5=<5.  
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� DG=>F<< GEF4=>6>< %�% ?D< ?>64D5 6E>4<F ?>44G4 G?D46?ONM57> 
<<?G?LE4 =4 >F>?NG5=<5 F5E=>?>7<G5E>>7> < 65=F<?OF<>==>7> >5>DG4>64=<O ?D< 
ED454FO64=<< ?>64D=OE <765M4F5?5=, 4 F4>65 D>D<<D>64=<5 G?D46?ONM57> 
E<7=4?4 =4 6>?NG5=<5 E<EF5< >?>65M5=<O > ?>64D5. 

%65F>64O < 76G>>64O E<7=4?<74F<O > E>EF>O=<< L?5=D>6, >5>DG4>64=<O 
?>64D=>= E<7=4?<74F<< < ?>64D=>= >5EF4=>6>< 6 ?><5M5=<OE >5N5>F4, 4?O 
456GD=>7> ?5DE>=4?4 >EGM5EF6?O5FEO E ?><>MLN 5?>>4 <=4<>4F<< < G?D46?5=<O 
«R3-$G556-��'» 3 4?O E<EF5<O %�%. 

 

&<? E<EF5<O %�'- E>7?4E=> %� 3.13130.2009 

&45?<F4 9.9.1 

�>7. 
?> 

��' 

�D>5>F<DG5<>5 744=<5, EFD>5=<5, E>>DG-
65=<5 (M>E??<>4F<O 744=<=) 

&<? %�'-                      

(%� 3.13130.2009) 

 

�D<<5G4=<5 

12 %>?44 =4?>?L=>7> ED4=5=<O 75D=4 1 F<? 
&45?<F4 1 ?.17 

%�3.13130.2009 

 

�?O >?>65M5=<O ?N45= > ?>64D5, 6> 6E5E >5M5EF65==OE < F5E=<G5E><E 
?><5M5=<OE E ?>EF>O==O< <?< 6D5<5==O< ?D<EGFEF6<5< ?N45= 76G>>6O5 <?< 

E65F>6O5 >?>65M4F5?<.  %65F>6O5 G>474F5?< «�/%��» GEF4=46?<64NFEO =4 ?GFOE 
M64>G4F<< < G 6OE>4>6 <7 744=<O.  

3 4?O %�'- 1 F<?4 3 E ?><>MLN >?>65M4F5?O 67DO6>74M<M5==>7> ��-�-3; 

�?O 74M<FO ?<=<< >F F5D<<G5E>>7> D47DGL5=<O GEF4=>6?5=O 6 ?<=<N 
>?>65M5=<O >7D4=<G<F5?< F>>4 >>D>F>>7> 74<O>4=<O E F5??>6O< 676>4>< ���&�. 

�6G>>6O5 E<7=4?O %�'- 4>?6=O >55E?5G<64FL GD>65=L 76G>4 =5 <5=55 G5< =4 
154�4 6OL5 4>?GEF<<>7> GD>6=O 76G>4 ?>EF>O==>7> LG<4 6 74M<M45<>< 
?><5M5=<<. 

-?5>FD>?<F4=<5 E<EF5<O ?>64D=>= E<7=4?<74F<< 6O?>?=O5FEO =4?DO65=<5< 
~220�, 50 �F ?> ?5D6>= >4F57>D<< M?5>FD>E=4565=<O. 

� >4G5EF65 D575D6<D>64==>7> <EF>G=<>4 ?D54GE<4FD<645FEO <E?>?L7>64=<5 
5?>>>6 55E?5D55>==>7> ?<F4=<O F<?4 ��-�$ (?<5> 4=4?>7<G=O5), >>F>DO5 
>55E?5G<64NF D45>F>E?>E>5=>EFL E<EF5<O ?>64D=>= E<7=4?<74F<< 6 456GD=>< 
D56<<5 =5 <5=55 24G < 6 D56<<5 «����$» =5 <5=55 3G. 

�>=F46 4??4D4FGDO, <765M4F5?5= < L?5=D>6 ?>64D=>= E<7=4?<74F<<, 
?D><76>4<FL 6 E>>F65FEF6<< E FD55>64=<O<< %� 3.13130.2009, %� 5.13130.2009, 

�'- < F5E=<G5E>>= 4>>G<5=F4F<< =4 >5>DG4>64=<5. 
�4=5?< ?<F4=<O ��' D47D45>F4=O 6 D4745?5 M?5>FD>E=4565=<O >5N5>F4 

(��%1) =4 >464>5 744=<5 <=4<6<4G4?L=>. 
 

 



      

18-09-184/3-��.�� 
�<EF 

      
18 

�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 
 

 

�D<=F<? 45=EF6<O 

�E=>6>= E<EF5<O 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<< < >?>65M5=<O 
?N45= > ?>64D5 O6?O5FEO ����� «$G556-2��». � 456GD=>< D56<<5 D45>FO 
����� «$G556-2��» >EGM5EF6?O5F ?>EF>O==O= >>=FD>?L 74 E>EF>O=<5< L?5=D>6 
?>64D=>= E<7=4?<74F<< < 4DG7<<< ����� «$G556-2��» ( =4 4DG7<E ?>7<F<O 
>5N5>F4). 

�D< >5=4DG65=<< ?>64D4 ?> 6OL5 >?<E4==O< 4?7>D<F<4<, ����� «$G556-

2��». ?5D5E>4<F 6 D56<< «����$». 
�D< MF><: 
3 =4 E4<>< ?D<5>D5 6>?NG45FEO E65F>76G>>64O E<7=4?<74F<O > ?>64D5; 
3 ?>445FEO E<7=4? =4 4>F<64F<N E<EF5<O >?>65M5=<O > ?>64D5; 
3 >F>?NG45FEO F5E=>?>7<G5E>>5 >5>DG4>64=<5, ( ?D< =5>5E>4<<>EF<); 
� E?GG45 6<7G4?L=>7> >5=4DG65=<O ?>64D4, >>744 E<EF5<4 ?>64D=>= 

E<7=4?<74F<< 5M5 =5 4>F<6<D>64?4EL, 6>?NG5=<5 E<EF5<O >?>65M5=<O ?N45= > 
?>64D5 ?D><76>4<FEO >F DGG=OE ?>64D=OE <765M4F5?5=. 

�D< >5DO65 L?5=D4 E<7=4?<74F<<, 6OE>45 <7 EFD>O 44FG<>>6 ?>64D=>= 
E<7=4?<74F<<, 3 =4 ?D<5>D5 6>?NG45FEO E65F>76G>>64O E<7=4?<74F<O > 
=5<E?D46=>EF< L?5=D4 E<7=4?<74F<<, E>7?4E=> FD55>64=<= %� 5.13130.2009. 

�D< ?D>?444=<< =4?DO65=<O ?<F4=<O >E=>6=>= E5F< ~220�, 50�F ����� 
«$G556-2��» 46F><4F<G5E>< ?5D5E>4<F =4 ?<F4=<5 >F 6EFD>5==>7> <EF>G=<>4 
55E?5D55>==>7> ?<F4=<O. �> 44==O< 746>44-<77>F>6<F5?O, <E 5<>>EFL 4>EF4F>G=4 
4?O D45>FO E<EF5<O 6 F5G5=<5 24 G 6 456GD=>< D56<<5 < =5 <5=55 3 G 6 D56<<5 
?>64D4. �D< 6>EEF4=>6?5=<< =4?DO65=<O >E=>6=>= E5F< 5?>>< ?<F4=<O 
46F><4F<G5E>< ?5D5E>4OF =4 ?<F4=<5 >F E5F<, 4>>G<G?OF>DO ?5D5E>4<F 6 D56<< 
?>474DO4><. 

�>=F46 >5>DG4>64=<O 

�>=F46 E<EF5<O =5>5E>4<<> ?D><76>4<FL 6 E>>F65FEF6<< E ?D<?4745<O<< 
G5DF564<<, F5E=<G5E>>= 4>>G<5=F4F<5= < <=EFDG>F<O<< 746>4>6-<77>F>6<F5?5= =4 
GEF4=46?<645<O5 GEFD>=EF64. �FEFG??5=<5 >F F5E=<G5E>>= 4>>G<5=F4F<< 
4>?GE>45FEO F>?L>> ?>E?5 E>7?4E>64=<O E ?D>5>F=>= >D74=<74F<5=. 

�>=F46=O5 < ?GE>>-=4?44>G=O5 D45>FO 4>?6=O 6O?>?=OFLEO 
E?5F<4?<7<D>64==>= >D74=<74F<5=, <<5NM5= E>>F65FEF6GNMGN ?<F5=7<N. 

�D<5>DO ?D<5<=>->>=FD>?L=O5 < ?D<5>DO G?D46?5=<O E?54G5F GEF4=46?<-
64FL =4 EF5=4E, ?5D57>D>4>4E < >>=EFDG>F<OE, <77>F>6?5==OE <7 =57>DNG<E <4F5-
D<4?>6. 'EF4=>6>4 G>474==>7> >5>DG4>64=<O 4>?GE>45FEO =4 >>=EFDG>F<OE, 6O-
?>?=5==OE <7 7>DNG<E <4F5D<4?>6, ?D< GE?>6<< 74M<FO MF<E >>=EFDG>F<= EF4?L-
=O< ?<EF>< F>?M<=>= =5 <5=55 1 << <?< 4DG7<< ?<EF>6O< =57>DNG<< <4F5D<4-
?>< F>?M<=>= =5 <5=55 10 <<. �D< MF>< ?<EF>6>= <4F5D<4? 4>?65= 6OEFG?4FL 74 
>>=FGD GEF4=46?<645<>7> >5>DG4>64=<O =5 <5=55 G5< =4 0,1 <. 
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 'EFD>=EF64 ��$ GEF4=46?<64NFEO 6 E>>F65FEF6<< E FD55>64=<O<< %� 
5.13130.2009. �>?GE>45FEO GF>G=5=<5 <5EF <E GEF4=>6>< ?D< <>=F465 ?> <5EFG. 

�?O <E>?NG5=<O =5E4=>F<>=<D>64==>7> 74?GE>4 E<EF5<O >?>65M5=<O > 
?>64D5, ��$ 4>?6=O 5OFL >??><5<D>64=O E?G65>= M>E??G4F4F<<, < =4E>4<FLEO 
?>4 ?>EF>O==O< =45?N45=<5<. 

�>E?5 7465DL5=<O <>=F46=OE < =4?44>G=OE D45>F, E<EF5<4 ?D54NO6?O5FEO 4?O 
?D<5<>< 6 M>E??G4F4F<N �4>47G<>G E >D>D<?5=<5< 46GEEF>D>==57> 4>F4. �D<5<>4 
>EGM5EF6?O5FEO E GG4EF<5< ?D54EF46<F5?5= �>E?>6=447>D4, �4>47G<>4, E?G65O 
M>E??G4F4F<< >5N5>F4 < D47D45>FG<>>6 �%. 

 

�>=F46 E5F5= E<7=4?<74F<< < ?D>>?44>4 >455?5= 

�D< ?D>>?44>5 E5F5= DG>>6>4EF6>64FLEO ?>?>65=<O<< %� 5.13130.2009, $� 
78.145-93 < �'-. 

�455?L=O5 ?<=<< %�% 4>?6=O 5OFL E5DF<D<F<D>64=O >4> ���. �D>E>4O 
G5D57 EF5=O < ?5D5>DOF<O >455?O 6O?>?=<FL 6 FDG55 7?44>>= ��% E ?>E?54GNM5= 
7445?>>= 747>D>6 <564G FDG5>= < ?D>5<><, <564G FDG5>= < >455?5< >7=574M<F=O< 
F5D<>D4EL<DONM<<EO 75D<5F<>><. 

�D< <>=F465 ��� =5>5E>4<<> E>5?N44FL >5M<5 FD55>64=<O, ?D<6545==O5 6 
�=EFDG>F<< ?> <>=F46G ��� "�>6&5E�455?L PTK-Line". 

�D< ?4D4??5?L=>= 7DG??>6>= ?D>>?44>5 >455?O E<EF5< ?D>F<6>?>64D=>= 
557>?4E=>EF< 74?>?=O5<>EFL >>=EFDG>F<=, 6 >>F>DOE ?D>>?44O645FEO >455?L, =5 
4>?6=4 ?D56OL4FL 40%. 

�D>>?44>G E<?>6>7> >455?O >EGM5EF6<FL =4 D4EEF>O=<< =5 <5=55 0,5< >F 
E?45>F>G=OE >455?L=OE FD4EE. 

�4D57>4 >455?O ?D><76>4<FEO ?>E?5 ?D>6545=<O >>=FD>?L=>7> ?D><5D4 FD4EE 
?D>>?44>< E GG5F>< 74?4E4 =4 D4745?>G >455?O 4?O ?>4>?NG5=<O. 

�> F5DD<F>D<< <564G ?>7<F<O<< >?F<G5E><5 >455?< ?D>>?44O64NFEO 6 ��� 
FDG54E >F45?L=> >F 4DG7<E E<EF5<. �D< ?D>>?44>5 E5F5= FD4EEO, 4?<=O >455?5= 

?>4?564F GF>G=5=<N ?> <5EFG.  
 

-?5>FD>?<F4=<5 

%>7?4E=> �'- GEF4=>6>< ?>64D=>= E<7=4?<74F<< < >?>65M5=<O 6 G4EF< 
>55E?5G5=<O =4456=>EF< M?5>FD>E=4565=<O >F=5E5=O > M?5>FD>?D<5<=<>4< 1 >4-
F57>D<<, ?>MF><G M?5>FD>?<F4=<5 >EGM5EF6?O5FEO >F E5F< G5D57 D575D6<D>64==O5 
<EF>G=<>< ?<F4=<O. �5D5E>4 =4 D575D6<D>64==O5 <EF>G=<>< ?<F4=<O ?D><EE>4<F 
46F><4F<G5E>< ?D< ?D>?444=<< >E=>6=>7> ?<F4=<O 557 6O44G< E<7=4?4 FD56>7<: 

>E=>6=>5 ?<F4=<5 - E5FL 220 �, 50 �F; 
D575D6=O= <EF>G=<> - ��� 12�. 
� E>>F65FEF6<< E ��%& $53325-2012 4?O ?<F4=<O ?D<5>D>6 < GEFD>=EF6 ?>-

64D=>= E<7=4?<74F<< < >?>65M5=<O <E?>?L7GNFEO 44D5E=O5 D575D6<D>64==O5 



      

18-09-184/3-��.�� 
�<EF 

      
20 

�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4 
 

<EF>G=<>< ?<F4=<O "��-�$ RS-R3", >55E?5G<64NM<5 >>=FD>?L D45>F>E?>E>5-
=>EF<. 

� E?GG45 ?>?=>7> >F>?NG5=<O =4?DO65=<O 220� 4>>G<G?OF>D=O5 54F4D5< 
?>76>?ONF D45>F4FL >5>DG4>64=<N 6 F5G5=<5 24 G4E>6 6 456GD=>< D56<<5 < 3 
G4E4 6 D56<<5 FD56>7<. 

 

�4=G?5=<5 (?5D5G5=L <5D>?D<OF<= ?> 7475<?5=<N) 
 

�?O >55E?5G5=<O M?5>FD>557>?4E=>EF< >5E?G6<64NM57> ?5DE>=4?4, 6 E>>F-
65FEF6<< E FD55>64=<O<< �'- >>D?GE4 ?D<5>D>6 ?>64D=>= E<7=4?<74F<< 4>?6-
=O 5OFL =4456=> 7475<?5=O. �>=F46 7475<?ONM<E GEFD>=EF6 6O?>?=<FL 6 E>>F-
65FEF6<< E FD55>64=<O<< �'-, %� 76.13330.2016 < 4DG7<E 45=EF6GNM<E =>D<4-
F<6=OE 4>>G<5=F>6. 

�D<E>54<=5=<5 7475<?ONM<E < =G?56OE 74M<F=OE ?D>6>4=<>>6 > G4EFO< 

M?5>FD>>5>DG4>64=<O 4>?6=> 5OFL 6O?>?=5=> E64D>>= <?< 5>?F>6O< E>54<=5-
=<5<. 

�F65F6?5=<O >F >455?L=>= ?<=<< ��%, ?<=<< ?<F4=<O >EGM5EF6?OFL 6 <>=-
F46=OE  >F65F6<F5?L=OE >>D>5>4E G5D57 >?5<<=O5 5?>><. 

�E5 >5>DG4>64=<5, ?D54GE<>FD5==>5 4>>G<5=F4F<5=, =4 <><5=F ?D>5>F<D>-
64=<O <<55F E5DF<D<>4FO E>>F65FEF6<O < �>64D=>= 557>?4E=>EF<. �>=F46=4O 
>D74=<74F<O ?5D54 <>=F46>< >5O74=4 ?D>65D<FL ED>> 45=EF6GNM<E E5DF<D<>4-
F>6. 

�D< 6O?>?=5=<< <>=F46=OE < ?GE>>=4?44>G=OE D45>F 6 E>>F65FEF6<< E 44=-
=O< ?D>5>F>< =5>5E>4<<> EFD>7> E>5?N44FL 6E5 ?D46<?4 ?>64D=>= 557>?4E=>-
EF< ?D54GE<>FD5==O5 �>EF4=>6?5=<5< �D46<F5?LEF64 $$ >F 16.09.2020 7 1479 
«�5 GF65D645=<< �D46<? ?D>F<6>?>64D=>7> D56<<4 6 $>EE<=E>>= $545D4F<<». 

�D< <>=F465 F5E=<G5E><E ED54EF6 E<7=4?<74F<< < E<EF5<O >?>65M5=<O 
4>?6=O E>5?N44FLEO FD55>64=<O %�<�, �'-, %� %<EF5<O ?D>F<6>?>64D=>= 
74M<FO, 45=EF6GNM<E 7>EG44DEF65==OE < >FD4E?56OE EF4=44DF>6. 

$45>G<5 G5DF56< D47D45>F4=O 6 E>>F65FEF6<< E 45=EF6GNM<<< =>D<4<<, 
?D46<?4<< < EF4=44DF4<<.�?O 74M<FO >5E?G6<64NM57> ?5DE>=4?4 >F ?>D465=<O 
M?5>FD<G5E><< F>>>< ?D54GE<4FD<645FEO 7475<?ONM55 GEFD>=EF6>. 

�?O M?5>FD>GEF4=>6>> 380/220� < M?5>FD<G5E>>7> >E65M5=<O 220�, 
?>?GG4NM<E ?<F4=<5 >F FD4=ED>D<4F>D>6 10/0,4/0,23 >� E 7?GE>7475<?5==>= 
=5=FD4?LN, ?D54GE<>FD5=> 74M<F=>5 74=G?5=<5 (E<EF5<4 TN-C-S). %>?D>F<6?5=<5 
7475<?ONM57> GEFD>=EF64 4?O M?5>FD>GEF4=>6>> 4> 1>� - =5 5>?55 4 �<. 
%>?D>F<6?5=<5 ?>6F>D=>7> 7475<?5=<O PEN-?D>6>4=<>>6 =4 66>44E 6 
M?5>FD>GEF4=>6>< 744=<=, ?>?GG4NM<E ?<F4=<5 ?> >455?L=O< ?<=<O< 3 =5 
=>D<<DG5FEO (1.7.61 �'-). �>6F>D=>5 7475<?5=<5 PEN (PE) 3 ?D>6>4=<>>6 =4 
66>44E 6 744=<O 6O?>?=O5FEO ?>ED54EF6>< ?D<E>54<=5=<O <E > 7?46=>= 
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7475<?ONM5= L<=5 (��,), E>54<=5==>= E 7475<?ONM<< GEFD>=EF6>< 
(7475<?<F5?5<).  

�475<?ONM<5 GEFD>=EF64 74M<F=>7> 7475<?5=<O ?D>5>F<DG5<OE 744=<= < 
E>>DG65=<= < <>?=<574M<FO II-= >4F57>D<< 744=<= < E>>DG65=<= 3 >5M<5. 

�?O >55E?5G5=<O 557>?4E=>EF< >5E?G6<64NM57> ?5DE>=4?4 6E5 <5F4??<G5E><5 
=5F>>>654GM<5 G4EF< M?5>FD>>5>DG4>64=<O E>7?4E=> �'- 74=G?ONFEO E ?><>MLN 
=G?56OE 74M<F=OE ?D>6>4=<>>6 ($�). � >4G5EF65 =G?56OE 74M<F=OE ?D>6>4=<>>6 
<E?>?L7G5FEO ?OF4O 6<?4 >455?O 6 FD5ED47=>= E5F< E E<<<5FD<G=>= =47DG7>>=, 
FD5FLO 6<?4 >455?O 6 >4=>D47=>= E5F< < ?OF4O 6<?4 >455?O 4?O 
M?5>FD>?D<5<=<>>6 FD5ED47=>= E5F< E =5E<<<5FD<G=>= =47DG7>>=. 

�D>5>F>< ?D54GE<4FD<645FEO 74M<F=>5 46F><4F<G5E>>5 >F>?NG5=<5 ?<F4=<O E 
=>D<<DG5<O< �'- 6D5<5=5< >F>?NG5=<O < GD46=<64=<5 ?>F5=F<4?>6. �E=>6=4O 
E<EF5<4 GD46=<64=<O ?>F5=F<4?>6 6O?>?=O5FEO ?GF5< >5N54<=5=<O =4 >464>< 
66>45 6 744=<5 ?D>6>4OM<E G4EF5= 6 E>>F65FEF6<< E ?.1.7.82 �'- < 
?D<E>54<=5=<O <E > 7?46=>= 7475<?ONM5= L<=5. � >4G5EF65 ��, <E?>?L7GNFEO 
<54=O5 L<=O $� �$'. 

�D<E>54<=5=<5 ?D>6>4OM<E G4EF5= > ��, 6 ?D><76>4EF65==OE ?><5M5=<OE 
6O?>?=O5FEO <47<EFD4?L=O< E?>E>5><. �4E>4OM<5EO 6=GFD< 744=<O ?D>6>4OM<5 
G4EF< 4>?6=O 5OFL ?D<E>54<=5=O > ?D>5>F<DG5<O< 7475<?<F5?O< 3 > 6=GFD5==5= 
<47<EFD4?< 74M<F=>7> 7475<?5=<O < GD46=<64=<O ?>F5=F<4?>6, 6O?>?=5==>= <7 
>F<=>>64==>= EF4?< 4E40<< E <E?>?L7>64=<5< <5F4??<G5E><E EFD><F5?L=OE 
>>=EFDG>F<= 744=<O, E>54<=5==>= =5 <5=55 G5< 6 46GE <5EF4E E =4DG6=O< 
>>=FGD>< 7475<?5=<O (7475<?<F5?5< <>?=<574M<FO). 

'D46=<64=<5 ?>F5=F<4?>6 6O?>?=O5FEO ?GF5< <5F4??<G5E>>7> E>54<=5=<O 
74=G?5==>7> M?5>FD>F5E=<G5E>>7> >5>DG4>64=<O E <5F4??<G5E><<< G4EFO<< 
F5E=>?>7<G5E>>7> >5>DG4>64=<O, FDG5>?D>6>44<< < EFD><F5?L=O<< 
>>=EFDG>F<O<<. �E5 FDG5>?D>6>4O =4 66>45 6 744=<5 4>?6=O 5OFL 7475<?5=O. 

%5G5=<5 ?D>6>4=<>>6 >E=>6=>= E<EF5<O GD46=<64=<O ?>F5=F<4?>6 6O5D4=> 6 
E>>F65FEF6<< E 7?46>= 1.7 �'- (7 <744=<5). 

�=GFD5==<= >>=FGD 7475<?5=<O - >5M<= 4?O F5?5= 7475<?5=<O, GD46=<64=<O 

?>F5=F<4?>6, 74M<FO >F EF4F<G5E>>7> M?5>FD<G5EF64.  
 

�5DO 557>?4E=>EF< 

�D< M>E??G4F4F<< E<EF5<O ?>64D=>= E<7=4?<74F<< E>5?N44FL <5DO 
557>?4E=>EF< 6 E>>F65FEF6<< E FD55>64=<O<< %� 3.13130.2009, %� 5.13130.2009 < 
F5E=<G5E>>= 4>>G<5=F4F<5= =4 ?D<5>DO. 

�5D54 ?D>6545=<5< <>=F46=OE D45>F =5>5E>4<<> >7=4>><<FLEO E 
F5E=<G5E>>= 4>>G<5=F4F<5= =4 E<EF5<G < =4 >464>5 GEFD>=EF6>. 

  �5D54 ?>4>?NG5=<5< M?5>FD>?<F4=<O 4>?6=4 5OFL ?D>65D5=4 =4456=>EFL 
7475<?ONM<E GEFD>=EF6. 
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  �E5 <>=F46=O5 < D5<>=F=O5 D45>FO 4>?6=O ?D><76>4<FLEO F>?L>> ?D< 
E=OF>< =4?DO65=<< >E=>6=>= E5F< < >F>?NG5==OE 4>>G<G?OF>D4E. �D< MF>< 
4>?6=O 5OFL ?D<=OFO 4>?>?=<F5?L=O5 <5DO ?> >55E?5G5=<N ?D>F<6>?>64D=>= 
557>?4E=>EF<. 

 

 

11. �?<E4=<5 < >5>E=>64=<5 =5>5E>4<<>EF< D47<5M5=<O >5>DG4>64=<O 

 ?D>F<6>?>64D=>= 74M<FO, G?D46?5=<O F4><< >5>DG4>64=<5<,  
674<<>45=EF6<O >5>DG4>64=<O E <=65=5D=O<< E<EF5<4<< 744=<O <  

>5>DG4>64=<5<, D45>F4 >>F>D>7> 6> 6D5<O ?>64D4 =4?D46?5=4 =4 >55E?5G5=<5 
557>?4E=>= M64>G4F<< ?N45=, FGL5=<O ?>64D4 < >7D4=<G5=<5 57> D476<F<O,  

4 F4>65 4?7>D<F<4 D45>FO F5E=<G5E><E E<EF5<. 
 

�E=>6=O<< DG=>F<O<< E<EF5< ?D>F<6>?>64D=>= 74M<FO O6?ONFEO: 
- 557>?4E=>5 ?D55O64=<5 ?N45= 6 744=<<; 
- E6>56D5<5==>5 >5=4DG65=<5 >G474 747>D4=<O; 
- >?>65M5=<5 ?N45= < =4?D46?5=<5 <E 6 557>?4E=GN 7>=G; 
- E>ED4=5=<5 <4F5D<4?L=OE F5==>EF5=; 
- 74M<F4 ?N45= >F 6>745=EF6<O >?4E=OE D4>F>D>6 ?>64D4.  

�E=>6=O<< ?D>5>F=O<< D5L5=<O<< ?D54GE<4FD<645FEO: 
- ?D<<5=5=<5 E5DF<D<F<D>64==>7>, F5E=<G5E>< E>65DL5==>7> 

M?5>FD>>5>DG4>64=<O; 
- 6O5>D M?5>FD>>5>DG4>64=<O, >E65F<F5?L=>= 4D<4FGDO < 

M?5>FD>?D>6>4>> E GG5F>< =47=4G5=<O, ED54O < >?4EE4 ?><5M5=<=; 
- D47<5M5=<5 M?5>FD>>5>DG4>64=<O E >55E?5G5=<5< E6>5>4=OE 7>= 

>5E?G6<64=<O; 
- =4?<G<5 =4456=>= EE5<O M?5>FD>E=4565=<O; 
- =4?<G<5 D45>G57>, 464D<==>7> < D5<>=F=>7> M?5>FD>>E65M5=<O; 
- 6O5>D >455?L=>= ?D>4G>F<<, E?>E>5>6 ?D>>?44>< M?5>FD>E5F5= 6 

E>>F65FEF6<< E GE?>6<O<< ED54O ?><5M5=<= < 6=5L=5= ED54O 6 
=>D<4?L=>< < 464D<==>< D56<<4E; 

- =4?<G<5 7475<?5=<O (74=G?5=<O) M?5>FD>>5>DG4>64=<O, 
6OD46=<64=<O ?>F5=F<4?>6, 4 F4>65 ?D<<5=5=<O 6 =5>5E>4<<OE 
E?GG4OE GEFD>=EF6 74M<F=>7> >F>?NG5=<O ('��). 

- 6O5>D M?5>FD>>5>DG4>64=<O, >E65F<F5?L=>= 4D<4FGDO < 
M?5>FD>?D>6>4>> E GG5F>< =47=4G5=<O, ED54O < >?4EE4 ?><5M5=<=. 

�O?>?=5=<5 G>474==OE DG=>F<= >55E?5G<645FEO G5F><< 674<<>45=EF6<5< 
6E5E E<EF5< ?D>F<6>?>64D=>= 74M<FO, GF> 4>EF<745FEO >><??5>E>< F5E=<G5E><E 
ED54EF6 46F><4F<74F<< 6E5E E<EF5<. &5E=<G5E><5 ED54EF64 46F><4F<74F<< E<EF5< 
?D>F<6>?>64D=>= 74M<FO D47<5M4NFEO 6 ?><5M5=<< E >DG7?>EGF>G=O< 
456GDEF6>< ?5DE>=4?4. 
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%<EF5<>= 46F><4F<G5E>>= ?>64D=>= E<7=4?<74F<< 74M<M4NFEO 6E5 
?><5M5=<O 744=<O =5746<E<<> >F ??>M44<, >D><5 ?><5M5=<=: 

- E <>>DO<< ?D>F5EE4<< (4GL56O5, E4=G7?O, < F. ?.); 
- 65=F>4<5D (?D<F>G=OE, 4 F4>65 6OFO6=OE), =4E>E=OE 

6>4>E=4565=<O < 4DG7<E ?><5M5=<= 4?O <=65=5D=>7> 
>5>DG4>64=<O 744=<O, 6 >>F>DOE >FEGFEF6GNF 7>DNG<5 <4F5D<4?O; 

- >4F57>D<< �4 < � ?> ?>64D=>= >?4E=>EF<; 
- ?5EF=<G=OE >?5F>>. 

� E>>F65FEF6<< E ?.14.3. %� 5.13130.2009 6 74M<M45<OE ?><5M5=<OE 
?D54GE<>FD5=4 GEF4=>6>4 =5 <5=55 FD5E ?>64D=OE <765M4F5?5=, ?>D>7>6OE, 4?O 
D>D<<D>64=<O E<7=4?>6 =4 G?D46?5=<5 6 46F><4F<G5E>>< D56<<5 GEF4=>6>4<< 
>?>65M5=<O < <=65=5D=O< >5>DG4>64=<5<.  

'?D46?5=<5 >EGM5EF6?O5FEO ?D< ED454FO64=<< =5 <5=55 46GE ?>64D=OE 
<765M4F5?5=, 6>?NG5==OE ?> ?>7<G5E>>= EE5<5 «�», E ?5D574?D>E>< 6 L?5=D5 
E<7=4?<74F<<. $4EEF>O=<5 <564G ?>64D=O<< <765M4F5?O<< ?D<=<<45FEO =5 5>?55 
?>?>6<=O =>D<4F<6=>7>. �4D5E=>-4=4?>7>6O5 <765M4F5?<, G4>6?5F6>DONM<5 
?G=>FG 13.3.3 %�5.13130 GEF4=46?<64NFEO 6 >>?<G5EF65 =5 <5=55 46GE LFG>. 

'EF4=>6>4 DGG=OE ?>64D=OE <765M4F5?5= ?D54GE<4FD<645FEO =4 ?GFOE 
M64>G4F<< =4 D4EEF>O=<< </G =<<< =5 5>?55 50 <5FD>6. $GG=O5 <765M4F5?< 
GEF4=46?<64NFEO =4 EF5=4E =4 6OE>F5 1,5 <. >F ?>?4 G M64>G4F<>==OE 6OE>4>6 <7 
744=<O. 

-?5<5=FO 4<EF4=F<>==>7> G?D46?5=<O GEF4=46?<64NFEO 6 ?>64D=O5 >D4=O 6 
E>>F65FEF6<< E ?.7.20 %� 7.13130.2013. 

�?O >55E?5G5=<O =>D<4F<6=>7> GD>6=O 76G>4 6> 6E5E <5EF4E ?>EF>O==>7> <?< 
6D5<5==>7> ?D55O64=<O ?N45=, E>7?4E=> ?. 4.8 %� 3.13130.2009, ?D54GE<4FD<645FEO 
GEF4=>6>4 76G>>6OE >?>65M4F5?5= 6 >464>5 ?><5M5=<5 E ?>EF>O==O< < (<?<) 
6D5<5==O< ?D55O64=<5< ?N45=. 

$4EEF4=>6>4 ?>64D=OE >D4=>6, ?D54GE<4FD<645FEO 6 E>>F65FEF6<< E ?.4.1.13 
%� 10.13130.2009. 

�O44G4 E<7=4?4 > E>EF>O=<< E<EF5<O < >5=4DG65=<< ?5D6<G=OE D4>F>D>6 
?>64D4 ?D><EE>4<F 6 ?><5M5=<5 E ?>EF>O==O< ?D55O64=<5< ?N45= (?>64D=O= 
?>EF) D47<5M5==O= 6 ?>7. 16 ?> ��'.  

�5>DG4>64=<5 >55E?5G<645F 6O44GG E65F>6>= < 76G>>6>= E<7=4?<74F<<: 
- > 6>7=<>=>65=<< ?>64D4; 
- > =5<E?D46=>EFOE 6 E<EF5<5 (?D>?444=<5 =4?DO65=<O, >5DO65, �� <  

4DG7>7> 6<44 =5<E?D46=>EFOE); 
- > E>EF>O=<< F5E=<G5E><E ED54EF6 ?D>F<6>?>64D=>= 74M<FO. 

�??4D4FGD4 E<EF5<O ?>64D=>= E<7=4?<74F<< D>D<<DG5F >><4=4O =4 
G?D46?5=<5 F5E=<G5E><<< ED54EF64<< (E<EF5<4<<) ?D>F<6>?>64D=>= 74M<FO: 

- E<EF5<>= >?>65M5=<O < G?D46?5=<O M64>G4F<5= ?N45= ?D< ?>64D5; 
- ?D<F>G=O<</6OFO6=O<<  65=F<?OF<>==O<< GEF4=>6>4<<; 
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- <=65=5D=O<< E<EF5<4<<. 
'?D46?5=<5 <=65=5D=O< >5>DG4>64=<5< ?D><76>4<FEO: 

- 46F><4F<G5E><,  ?D< ED454FO64=<< ?>64D=OE <765M4F5?5=; 
- 4<EF4=F<>==>, E ?G?LF4 G?D46?5=<O <?< >F >=>?>> 6 ?>64D=OE 

L>4D4E. 
�D< 6>7=<>=>65=<< ?>64D4 ?>64D=O5 <765M4F5?< >5=4DG6<64NF ?>O6?5=<5 

D4>F>D>6 ?>64D4, F4><E >4> 4O< <?< F5??>.  
�D< ED454FO64=<< >4=>7> ?>64D=>7> <765M4F5?O, ?D<5<=>->>=FD>?L=O= 

?D<5>D D57<EFD<DG5F E<7=4? «�=<<4=<5/�>64D1», ?D< ED45>F>5 6F>D>7> < 
?>E?54GNM<E <765M4F5?5= D57<EFD<DG5F E<7=4? «�>64D2» < 445F >><4=4G =4 
74?GE> ?>64D=>= 46F><4F<><, 74?GE> E<EF5<O >?>65M5=<O, >F>?NG5=<O E<EF5<O 
65=F<?OF<< < >>=4<F<>=<D>64=<O, 74>DOF<5 ?D>F<6>?>64D=OE >?4?4=>6, 74?GE> 
?D>F<6>4O<=>= 65=F<?OF<< 6 7>=5 ED454FO64=<O ?>64D=OE <765M4F5?5=.  

�D< ED454FO64=<< DGG=>7> ?>64D=>7> <765M4F5?O, ?D<5<=>->>=FD>?L=O= 
?D<5>D D57<EFD<DG5F E<7=4? «�>64D2». 

�>=EFDG>F<O, 6<4 <E?>?=5=<O, E?>E>5 GEF4=>6><, >?4EE <7>?OF<< 
M?5>FD>>5>DG4>64=<O < <4F5D<4?>6 E>>F65FEF6GNF =><<=4?L=O< =4?DO65=<O< 
E5F<, GE?>6<O< >>DG64NM5= ED54O < F5E=<G5E><< GE?>6<O<. 

�D>6>44, >455?<, 4??4D4FO, M?5>FD>46<74F5?< D4EEG<F4=O =4 <>M=>EFL <?< 
4?<F5?L=> 4>?GEF<<O5 =47DG7>< (E5G5=<O), >>F>DO5 =5>5E>4<<O 4?O 
?D54>F6D4M5=<O GD57<5D=>7> <E =47D564 6 GE?>6<OE =>D<4?L=>= M>E??G4F4F<<. 

%?>E>5 ?D>>?44><, >>=EFDG>F<6=>5 <E?>?=5=<5 E<?>6OE < >E65F<F5?L=OE 
E5F5=, 6<4O < E?>E>5O 6O?>?=5=<O <E 74M<F >F F>>>6 >>D>F>>7> 74<O>4=<O < 
?5D57DG7><, F<? >5>DG4>64=<O, 4??4D4FGDO < GEF4=>6>G=OE <745?<= E>>F65FEF6GNF  
=47=4G5=<N ?><5M5=<=, >?4EE<D<>4F<< ?> �'- E>>F65FEF6GNM<E 7>= < 
?><5M5=<= 6 >F=>L5=<< <E ?>64D=>= >?4E=>EF<. 

-?5<5=FO E<?>6>7> >5>DG4>64=<O ?D>65D5=O ?> D56<<G >>D>F>>7> 
74<O>4=<O, 4<=4<<G5E>>= GEF>=G<6>EF< > F>>4< >>D>F>>7> 74<O>4=<O < G44D=><G 
F>>G. 

� 744=<< ?D54GE<>FD5=> M64>G4F<>==>5 >E65M5=<5, 6O?>?=5==>5 6 
E>>F65FEF6<< E FD55>64=<O<< =>D<4F<6=OE 4>>G<5=F>6. 

-64>G4F<>==>5 >E65M5=<5 ?D54GE<>FD5=>: 
- 6 <5EF4E, >?4E=OE 4?O ?D>E>44 ?N45=; 
- 6 ?D>E>44E, >>D<4>D4E, E?G64M<E 4?O M64>G4F<< ?N45=; 

-64>G4F<>==>5 >E65M5=<5 >55E?5G<645F >E65M5==>EFL =4 ?>?G >E=>6=OE 
?D>E>4>6 < =4 EFG?5=OE ?5EF=<G=OE >?5F>> 1 �>. 

�D54GE<>FD5=> ?<F4=<5 M?5>FD>M=5D7<5= ?> I->= >4F57>D<< =4456=>EF<, 6 
E>>F65FEF6<< E FD55>64=<O<< ?. 11 EF. 84 $545D4?L=>7> 74>>=4 >F 22.07.2008 7 123-

$� «&5E=<G5E><= D57?4<5=F > FD55>64=<OE ?>64D=>= 557>?4E=>EF<» E?54GNM<E 
E<EF5< ?D>F<6>?>64D=>= 74M<FO: 

- 46F><4F<G5E>4O GEF4=>6>4 44D5E=>= ?>64D=>= E<7=4?<74F<<; 
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- E<EF5<4 >?>65M5=<O < G?D46?5=<O M64>G4F<5= ?N45= > ?>64D5; 
- 6=GFD5==<= ?D>F<6>?>64D=O= 6>4>?D>6>4. 

�455?L=O5 ?<=<< E<EF5< ?D>F<6>?>64D=>= 74M<FO E>ED4=ONF 
D45>F>E?>E>5=>EFL 6 GE?>6<OE ?>64D4 6 F5G5=<5 6D5<5=<, =5>5E>4<<>7> 4?O 
DG=>F<>=<D>64=<O >>=>D5F=OE E<EF5< 74M<M45<>7> >5N5>F4. 

�455?L=O5 ?<=<< E<EF5< >?>65M5=<O < G?D46?5=<O M64>G4F<5= (%�'-) < 
?>64D=>= E<7=4?<74F<<, GG4EF6GNM<5 6 >55E?5G5=<< M64>G4F<< ?N45= ?D< ?>64D5, 
E>ED4=ONF D45>F>E?>E>5=>EFL 6 GE?>6<OE ?>64D4 6 F5G5=<5 6D5<5=<, =5>5E>4<<>7> 
4?O ?>?=>= M64>G4F<< ?N45= 6 557>?4E=GN 7>=G. 

�<F4=<5 M?5>FD>?D<5<=<>>6 E<EF5< ?D>F<6>?>64D=>= 74M<FO 
>EGM5EF6?O5FEO >F E4<>EF>OF5?L=>7> 66>4=>-D4E?D545?<F5?L=>7> GEFD>=EF64 (�$'), 
E GEFD>=EF6>< 46F><4F<G5E>>7> 6>?NG5=<O D575D64 (��$), <<5NM57> 
>F?<G<F5?L=GN >>D4E>G. 

�D5<O E>ED4=5=<O D45>F>E?>E>5=>EF< >455?L=OE ?<=<= < M?5>FD<G5E><E 
M<F>6 >?D545?5=> ?> ��%& $ 53316. 

-64>G4F<>==>5 >E65M5=<5 >55E?5G<645F =4<<5=LLGN >E65M5==>EFL =4 ?>?G 
>E=>6=OE ?D>E>4>6 (<?< =4 75<?5) < =4 EFG?5=OE ?5EF=<F: 6 ?><5M5=<OE 3 0,5 ?>, =4 
>F>DOFOE F5DD<F>D<OE 3 0,2 ?>. 

%65F<?L=<>< >E65M5=<O 557>?4E=>EF< 6 ?><5M5=<OE <>7GF <E?>?L7>64FLEO 
4?O M64>G4F<>==>7> >E65M5=<O. 

'>474F5?< 6OE>4>6 <>7GF 5OFL E65F>6O<<, E> 6EFD>5==O<< 6 =<E 
<EF>G=<>4<< E65F4, ?D<E>54<=O5<O<< > E5F< 464D<==>7> >E65M5=<O, < =5 
E65F>6O<< (557 <EF>G=<>>6 E65F4) ?D< GE?>6<<, GF> >5>7=4G5=<5 6OE>44 (=44?<EL, 
7=4> < F.?.) >E65M45FEO E65F<?L=<>4<< 464D<==>7> >E65M5=<O. 

�E65F<F5?L=O5 ?D<5>DO M64>G4F<>==>7> >E65M5=<O 4>?GE>45FEO 
?D54GE<4FD<64FL 7>DOM<<<, 6>?NG45<O<< >4=>6D5<5==> E >E=>6=O<< 
>E65F<F5?L=O<< ?D<5>D4<< =>D<4?L=>7> >E65M5=<O < =5 7>DOM<<<, 46F><4F<G5E>< 
6>?NG45<O<< ?D< ?D5>D4M5=<< ?<F4=<O =>D<4?L=>7> >E65M5=<O. 

 

 

12. �?<E4=<5 >D74=<74F<>==>-F5E=<G5E><E <5D>?D<OF<=  
?> >55E?5G5=<N ?>64D=>= 557>?4E=>EF< >5N5>F4  

>4?<F4?L=>7> EFD><F5?LEF64. 
 

%>7?4E=> ?>?>65=<O< %� 2.13130.2020 ?. 4.6 6 ?D>F5EE5 M>E??G4F4F<< 
E?54G5F: 

- >55E?5G<FL E>45D64=<5 744=<O < E>EF>O=<5 EFD><F5?L=OE 
>>=EFDG>F<= 6 E>>F65FEF6<< E FD55>64=<O<< ?D>5>F=>= < 
F5E=<G5E>>= 4>>G<5=F4F<< =4 =<E; 

- =5 4>?GE>4FL <7<5=5=<= >>=EFDG>F<6=OE, >5N5<=>-??4=<D>6>G=OE 
< <=65=5D=>-F5E=<G5E><E D5L5=<= 557 ?D>5>F4, D47D45>F4==>7> 6 
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E>>F65FEF6<< E 45=EF6GNM<<< =>D<4F<6=O<< 4>>G<5=F4<< ?> 
?>64D=>= 557>?4E=>EF< < GF65D645==>7> 6 GEF4=>6?5==>< ?>DO4>5; 

- ?D< ?D>6545=<< D5<>=F=OE D45>F =5 4>?GE>4FL ?D<<5=5=<O 
>>=EFDG>F<= < <4F5D<4?>6, =5 >F65G4NM<E FD55>64=<O< 
45=EF6GNM<E =>D<. 

�D< >D74=<74F<< EFD><F5?L=>= ??>M44>< < ?D><76>4EF65 EFD><F5?L=>-

<>=F46=OE D45>F =5>5E>4<<> 6O?>?=<FL E?54GNM<5 <5D>?D<OF<O: 
1. � E>>F65FEF6<< E D47D45>F4==O< EFD>=75=??4=>< 6O?>?=<FL ?D>E>4O 

< ?>4N574O > EFD>OM<<EO < 6D5<5==O< 744=<O< < E>>DG65=<O<. 
2. %FD><F5?L=GN ??>M44>G >55E?5G<FL ?5D6<G=O<< ED54EF64<< 

?>64D>FGL5=<O < 6>4>?D>6>4>< (6>7<>6=> 6D5<5==O<). 
3. %>?44<D>64=<5 E7>D45<OE <4F5D<4?>6 65EF< E GG5F>< 

?D>F<6>?>64D=OE D47DO6>6 =5 <5=55 24< >F 744=<= < E>>DG65=<=. 
4. �47>=G<>< 4?O EFD><F5?5= D47<5EF<FL =4 D4EEF>O=<< =5 <5=55 15 < >F 

4DG7<E 744=<=, 6 F.G. EFD>OM57>EO.  
5. �D><76>4<FL D45>FO 6 744=<< E ?D<<5=5=<5< 7>DNG<E 65M5EF6 < 

<4F5D<4?>6 >4=>6D5<5==> E 4DG7<<< EFD><F5?L=O<< D45>F4<<, 
E6O74==O<< E ?D<<5=5=<5< >F>DOF>7> >7=O, =5 4>?GE>45FEO. 

6. %> EFD>=??>M44>< ?D54GE<>FD5FL 464D<==O= 6O574. 
�>=FD>?L < >F65FEF65==>EFL 74 6O?>?=5=<5< < E>5?N45=<5< FD55>64=<= 

?>64D=>= 557>?4E=>EF< 6>7?>6<FL ?D<>47>< =4 ?D>D454 < <4EF5D4 �5=?>4DO4G<>4, 
4 F4> 65 5D<744<D>6 EG5?>4DO4=OE >D74=<74F<=. �5D54 =4G4?>< D45>F ?D>65EF< 
<=EFDG>F46 ?> F5E=<>5 ?>64D=>= 557>?4E=>EF<. 

� >D74=<74F<>==>-F5E=<G5E><< <5D>?D<OF<O< ?D< M>E??G4F4F<< 744=<O 
>F=>EOFEO: >D74=<74F<O =4 >5N5>F5 >DG7?>EGF>G=>7> 456GDEF64, >EGM5EF6?5=<5 
>>=FD>?O 74 E>5?N45=<5< <5D ?>64D=>= 557>?4E=>EF< 6 744=<<, M>E??G4F4F<5= < 
F5E=<G5E><< E>EF>O=<5< E<EF5< ?D>F<6>?>64D=>= 74M<FO. 

�D< ?D><76>4EF65 >7=56OE D45>F 6 E?GG45 >5D47>64=<O 747>>?4E=OE < 
67DO6>>?4E=OE 7>= =4 EFD>=??>M44>5, =5>5E>4<<> >D>D<?OFL =4DO4-4>?GE> 6 
GEF4=>6?5==>= D>D<5. 

�5N5>F >55E?5G<FL ?5D6<G=O<< ED54EF64<< ?>64D>FGL5=<O < ED54EF64<< 
E6O7< 4?O 6O7>64 ?>64D=OE G4EF5=.  

�D< >?D545?5=<< 6<4>6 < >>?<G5EF64 ?5D6<G=OE ED54EF6 ?>64D>FGL5=<O 
GGF5=O D<7<>>-E<<<G5E><5 < ?>64D>>?4E=O5 E6>=EF64 7>DNG<E 65M5EF6, 4 F4>65 
??>M44L EFD><F5?L=>= ??>M44>< < 6>76>4<<>7> 744=<O. 

 �5>5E>4<<>5 >>?<G5EF6> ?5D6<G=OE ED54EF6 ?>64D>FGL5=<O ?D<=OF> 6 
E>>F65FEF6<< E ?D<?>65=<5< 3, >4<= M<F -�-� =4 >4<= EFD>OM<=EO >5N5>F.  

�?O =G64 EFD><F5?5= <E?>?L7>64FL 6D5<5==O5 744=<O >>=F5==5D=>7> F<?4, 
>F65G4NM<5 FD55>64=<O< 45=EF6GNM<E =>D<, ?D46<? < EF4=44DF>6 ?> ?>64D=>= 
557>?4E=>EF<. 
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�?O >F>??5=<O <=65=F4D=OE 744=<= <E?>?L7>64FL M?5>FD>=47D564F5?< 
746>4E>>7> <77>F>6?5=<O. 

�?O M64>G4F<< ?N45= =4 E?GG4= ?>64D4 <E?>?L7>64FL =5 <5=55 2-E 6E>4>6 6 
744=<5. 

�4?D5M45FEO 747D><>644FL ?>4N574O < ?D>574O, 6E>4O 6 744=<5 < ?>4EFG?O > 
?>64D=><G <=65=F4DN. 

' 6N5744 =4 EFD>=??>M44>G =5>5E>4<<> 6O65E<FL ??4= ??>M44>< E G>474=<5< 
<5EF>=4E>645=<O ?>64D=OE 7<4D4=F>6, ED54EF6 ?>64D>FGL5=<O < E6O7<.  

�D><76>4EF6> D45>F 6=GFD< 744=<O E ?D<<5=5=<5< 7>DNG<E 65M5EF6 < 
<4F5D<4?>6 (GEFD>=EF6> 7<4D>- < ?4D><7>?OF<< < F.4.) >4=>6D5<5==> E 4DG7<<< 
EFD><F5?L=>-<>=F46=O<< D45>F4<<, E6O74==O<< E ?D<<5=5=<5< >F>DOF>7> >7=O 
(E64D>4 < F.?.) =5 4>?GE>45FEO. 

�5EF> ?D>6545=<O >7=56OE D45>F >55E?5G<FL ED54EF64<< ?>64D>FGL5=<O. 
 

13. $4EG5F ?>64D=OE D<E>>6 G7D>7O 6<7=< < 74>D>6LN ?N45= 

< G=<GF>65=<O <<GM5EF64. 
 

� ?D>5>F5 GGF5=O >5O74F5?L=O5 FD55>64=<O ?>64D=>= 557>?4E=>EF<, 
GEF4=>6?5==O5 =>D<4F<6=O<< 4>>G<5=F4<<, ?>MF><G D4EG5F ?>64D=OE D<E>>6 =5 
FD55G5FEO. 
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%� 1.13130.2020 %<EF5<O ?D>F<6>?>64D=>= 74M<FO. -64>G4F<>==O5 ?GF< < 6OE>4O

%� 2.13130.2020
%<EF5<O ?D>F<6>?>64D=>= 74M<FO. �55E?5G5=<5 >7=5EF>=>>EF< >5N5>F>6
74M<FO

%� 4.13130.2013* (�7<.3) %<EF5<O ?D>F<6>?>64D=>= 74M<FO. �7D4=<G5=<5 D4E?D>EFD4=5=<O ?>64D4
=4 >5N5>F4E 74M<FO

%� 6.13130.2013 %<EF5<O ?D>F<6>?>64D=>= 74M<FO. -?5>FD>>5>DG4>64=<5.
&D55>64=<O ?>64D=>= 557>?4E=>EF<

%� 7.13130.2013
�F>??5=<5, 65=F<?OF<O < >>=4<F<>=<D>64=<5. �D>F<6>?>64D=O5
FD55>64=<O

%� 8.13130.2020 %<EF5<O ?D>F<6>?>64D=>= 74M<FO. �EF>G=<>< =4DG6=>7>
?D>F<6>?>64D=>7> 6>4>E=4565=<O. &D55>64=<O ?>64D=>= 557>?4E=>EF<

%� 10.13130.2020 %<EF5<O ?D>F<6>?>64D=>= 74M<FO. �=GFD5==<= ?D>F<6>?>64D=O=
6>4>?D>6>4. &D55>64=<O ?>64D=>= 557>?4E=>EF<
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1. �4==O= D4745? "�5D>?D<OF<O ?> >55E?5G5=<N ?>64D=>= 557>?4E=>EF<" D47D45>F4= =4
>E=>64=<<:

- �444=<O =4 ?D>5>F<D>64=<5 �4>47G<>4;
- %<56=OE D4745?>6 ?D>5>F=>= 4>>G<5=F4F<<;

2. �4EF>OM<< D4745?>< �D>5>F4 ?D54GE<4FD<645FEO D54?<74F<O =4 �5N5>F5 74M<FO
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